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This test booklet contains 200 questions of one mark each. All 
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Answer each question by darkening the one correct alternative 
among the four choices on the OMR SHEET with blue/black 
ball point pen. 
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Q. No. 
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t I 
•<-14.<-441:11 	q) 	31t-T 	qr< 	ticoci 1 
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once 	marked 	on 	OMR 	Sheet, 	by 	using 	white 
fluid/eraser/blade/tearing/wearing or in any other form. 
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booklet 
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the Examination Hall. 
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PART - I 

MENTAL ABILITY TEST (MAT) 
Tr-44ff 

(QUESTION NO. 01-100) 
	 *kvii 01-100) 

. is 
(62  + 7 +8 + 92  + 102) 

1. 
(62  + 72  + 8 	1 92  + 102) 	 

ENIGH 6 4i 1 	: equal to : 

P7+4,/-3-)- j(f4+2.15) 

	

1. 355 	 2. 330 

	

3. 305 	 4. 366 

j(Ifi+4,5)-1(14+2,/5) 

	

1. 355 	 2. 330 

	

3. 305 	 4. 366 

2. If 20% of x = y. then y% of 20 is the same as : 
1. 4% ofx 	2. 6% ofy 
3. 8% ofx 	4. 10% ofx 

2. zfft x W1 20% y * -ff).  20 W-  y% t1411-1 6) 411 

1. x Th-T 4% 	 2. y TT 6% 

3. x 0)1 8% 	 4. x --T 10% 

3.  The sum of first 12 terms of an A.P. whose nth term is 
given by a„= 3n + 4 is : '17-iTh-T ' 

	

1. 262 	 2. 272 

	

3. 282 	 4. 292 

3. -11 4-ii-ckiRM..1 	'T 	12 1:11 wr 41-1- 

nqr 1:1-q an = 312 + 4 W‘<1 ftT 'Ril t : 

	

1. 262 	 2. 272 

	

3. 282 	 4. 292 

4.  Two goods train each 500m long, are running in 
opposite directions on parallel tracks. Their speeds are 
45km/hr. and 30 km/h respectively. Find the time 
taken by the slower train to pass the driver of the faster 
one : 
1. 	12 sec. 	2. 24 sec. 
3. 48 sec. 	4. 60 sec. 

4. '-ir ''r 	4-Ilri 	cilct) 	cf?"4--- 	500 	T-Ird7 	•-i, 
-11 4-11.-i id 	z1 7,'W 117 1Li &1 ftZr1311 14 T-4d •41 
t I 39-4- 711 .  544-17: 45 Wro/ _-iti 3T1- 	30 
-f+-4to/iti * I (),-1 ,If. 	-ilqict) cp'1 tum ct).)- 

f' 	01-Tit 	--f gl-RT -1 -ar 4  I Zi I AZT V cf ct) 	1 

1. 12 t{WIT 	 2. 24 
3. 48 'tiTh-cr 	 4. 60 

5. The next term of the AP/178,15T), /914, ..... is 5. 0411.-k-N 	3)-1:111- 	(Qt.) 	AP,n13,-Vgior95,..... 5T 
3T-Trm trq t : I.j.71 -6 	2.\ 1/ 3  

3. 1/162 	4. -VTOT) 1. -V1476 	 2. lifig 
3. -,/162 	 4. -I200 

6. If (p + eh term of an A.P. is m and (p - q)'h term is n, 
them pth term is : 

1. nin 	 2. 	Fair/ 

3. (m - n)/-12 	4. (m + 0/2 

6. zift 	11 411-cN 'OA (7.11.) 5T (p + q)th TIC  m 

3117 (p - q)'h' tR n t , t pth zR * : 

1. mn 	 2. \ Trrin 
3. (m - n)/12.. 	 4. (m + n)/2 

7. If a flight of 600km, an aircraft was slowed down due 

to bad weather. Its average speed for the trip was 

reduced by 200km/hr. and the time of flight increased  

by 30minutes. The original duration of the flight is : 

1. 	1 hour 	2. 2 hours 
3. 3 hours 	4. 4 hours 

7. 600 fttO zrn 	‘51--I 14, 745 faliT9.  '4.1.<1f4 	4fi t1 1-f 
* (4kui tiff t 4 R II 21[1 -I-,II * itg 
311-Ti- 	4 0 200 f 	0/ 	tI ch4-1 	1 1 	zfR +-4- ti 	t 	i Or 
\i 	I -I (4I .Tiliti 30 iii-9Z q 	 741 27 I 	5Irf 4 
tc,1 31q14 * : 

	

1. 	1 	iti 	 2. 	2 	tia 

	

3. 	3 qa 	 4. 	4 tick 
8. A tower is observed from a point on the horizontal 

through the foot of the tower. The distance of this point 
from the foot of the tower is equal to the height of the 
tower. The angle of elevation on the top of the tower 
is: 

	

1. 60° 	 2. 45° 

	

3. 40° 	 4. 30° 

8. ich ZFR -0 'Tat 31T 	* aft7 ftS tf t-UTT 
until * I ticH * &MIR tf *ti f 	4 Vt cici 

(4) 	4,-c4I 	4\> 	(,N16N 	t I 	ticN 	f 	.1.-q-1 	m-)Tir 
•It-d-ffr t,  1 	• 	 . 

	

1. 60° 	 2. 45° 

	

3. 40° 	 4. 30° 
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9. There are 1400 students in a school, 25% of those wear 

spectacles and 2/7 of those wearing spectacles are 

boys. How many girls in the school wear spectacles? 

	

1. 300 	 2. 	100 

	

3. 200 	 4. 250 

9. c,t-) 	14ilei 44 1T 1400 r4.-QT01 t, f9.14 .R4 25% 
tr-0-0.  t 30 	Er-6-9-4 	A' t TR1-11 	 twil 	clic) 13r-  

* 	4 1 -ff- 2/7 	ri 	c 	1 	't-cr&ei 	41- 	cri 	41 	T1Y+-11 
61 t, 

	

1. 300 	2. 	100 

	

3. 200 	4. 250 

10. P, Q and R jointly thought of engaging themselves in 

a business venture. It was agreed that P would invest 

Rs. 6500 for 6 months, Q, Rs. 8400 for 5 months and '  

R, Rs. 10,000 for 3 months P wants to be the working 

member for which, he was to receive 5% of the profits. 

The profit earned was Rs. 7400. Calculate the share of 

Q in the profit. 

1. Rs. 1900 	2. Rs. 2660 

3. Rs. 2800 	4. Rs. 2840 

10.  P, Q 30 R#2:14U 	11 tip allcNincl,  
1 4-1lq 	ct)) 	(1411.) 	NI T 1 	*,4-1 	Eilc1  v- 	14 c  

1T.R.  TI-61=1" 61.t 14lit-4 -t .17  P, 6 	 6500. 
 

M1. .ft-\414 Tt111, Q, 5 TT-61-4 c 	fit 8400T. 47 
R, 3 11-e1-4 	fi 10,000T. TT f4-4'41.  ci-) 411 I P 
awl 	cfro) 	c1l(11 	tIqtzi 	.4.1-ir 	-ci1c11 	t, 	of -R-i-T 
It i7 \i) Vitt Th-T 5% All-cl Oil 2TT1 31.11 	*F11.1.  

-,4 7400T. 	241. 1 	7111.  4 	Q 	c6) 	1-.()qt, 	c61 	4 1 1)1'11 

ci, 	. 	I 
1. 	1900T. 	, 	2. 	2660. 
3. 	2800T. 	 4. 	2840. 

11.  John cycling at a constant speed of 10km/hr. reaches 

his school in time. If he cycles at a constant speed of 

15km/hr., he reaches his school in 12 minutes early. 

How many km. he has to cycle for his school is ? 

	

1. 4 	 2. 6 

	

3. 9 	 4. 	12 

11. 111-1 	10f+-t./ tit1 	4 	ft-QTR.  +I 1c 	7-frit-o.  
T1c,i1 	§, 	1-Trz1 1:F 3iCr4 't< e1 	oci, crt--4ffr t 1 
Li 4 c.i 	15ft-it/tit! m1-  ft.QTR-  4n tr tII*14,rf 
z1e.1101 t 0 75.  12fil-9Z 1:1-6A 3174 -i=zq 	Oct) 
1::( 	‘31101 t I \3st) 371-4 tco TIT .A14 T f'R 
f+71-4 ft-t. c-1 c1) tii*fei.-o-r--4r t? 

	

1. 4 	 2. 6  

	

3.9 	 , 	4.12 

12. If 7sin a = 24 cos a ; 0 < a <762, then the value of 14 

tan a - 75 cos a - 7 sec a is equal to 

	

1. 3 	 2. 4 

	

3. 	1 	 4. 	2 

12. 

* 

tift 7sin a = 24 cos a ; 0 < a <7E/2*, c .).  14 tan a - 
75 cos a - 7 sec a Th-T -FM ft- 1-.  ,SNIGN 0 4 111 

	

1.3 	 2.4 

	

3. 	1 	 4. 2 

13. If x2  + 1/x2 = 98 (x > 0), then the value of x3  + 1/x3  is 

	

1. 970 	 2. 	1030 

	

3. -970 	 4. -1030 

13. -t7----X3 + tiff X + 1/x?= 98 (x > 0) 1/x3  Th-T T1T9' 
MIU 	ir-q I 
1. 970 	 2. 	1030 
3. -970 	 4. -1030 

14.  The correct arrangement of alphabetical order of the 
words : 
a. music 	b. monk 	c. minimum 	d. maximum 
1. d,a,c,b 	2. a,c,d,b 
3. d,c,a,b 	4. d,c.b,a 

14. 70111-c4 Th1T Ml.  Tit arl-i-QTT 

a. music 	b. monk 	c. minimum 	d. maximum 
1. d,a,c,b 	 2. a,c,d,b 
3. d,c,a,b 	 4. d,c,b,a 

15.  At present ages of a father and son are in the ratio of 

7:3 and they will be in the present ratio 2:1 after 10 

years. What is the present age of father? 

1. 70 years 	2. 65 years 

3. 60 years 	4. 50 years 

15. cicli-IF # Wm 3N v qit 3Trg Th-r zi--@-q-rd-  7:3 

t.  3117 10 Tsil (t--) Gil< Zr* 3111410 2:1 6111 W11 
TaTIFT 3TM f+--d-t t I 

	

1. 	70 cill 	 2. 	65 

	

3. 	60 74 	 4. 	50 Ti 
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Direction (Q.16-19) : Study the following table carefully 
and answer the questions : 
Number of students in different classes of XYZ Primary 
school: 

ffi-47T (x.16-19) ctlict.)1 et)I ait9TECcl 	31 	9. e0 3fi7 

TA -et 3-k-H 

XYZ RVIti 	----- 	-- -1-411)- 	coil 4 E5-r- 	1.Lq41 	: 

Tail.  Years 44 Classes 
2014 2015 2016 2017 2018 2014 2015 2016 2017 2018 

1 22 28 26 32 18 1 22 28 26 32 18 
II 20 26 22 24 16 II 20 26 22 24 16 
III 39 33 52 17 29 III 39 33 52 17 29 
IV 19 26 38 24 11 IV 19 26 38 24 11 
V 16 33 37 23 21 V 16 33 37 23 21 

16. 	The difference between the sum of all the students of 
all the the classes in 2017 and 2018 is : 
1. 	112 	 2. 	85 

3. 25 	 4. 35 

16. 	2017 3117 2018 # 	i-'41 .-a1i-3# * TTI-1).  

ti 4 1 	-4"1 	3t-d7 t 

1. 	112 	 2. 	85 

3. 	25 	 4. 	35 

17. 	The sum of all the students in class III in all the years 

is what pecent of the sum of all students of class I in 

all the years approximately? 

1. 30% 	 2. 100% 

3. 60% 	 4. 135% 

17. Tit 4141 it 	a-IT III 	Ti'lft ftTf-azi 	-WI.  TOT 

TI14 	14-  Tfar 1 	Tilft fa-arf0-7:1-. 	,_ ,1 	cm 

-rr'41-7 	-fT--4 vit-v -r 	m t-  I 
 

	

1. 30% 	 2. 100% 

	

3. 60% 	 4. 135% 

18. The square of sum of all the students of all classes in 

year 2018 is : 

	

1. 2095 	 2. 9025 

	

3. 6059 	 4. 9216 

18. 	e4 	2018 4 TrIft 	a-Tr3i-  .. Tit -ft1T1071): 	z4)71- 

et,  I 	e1 4 	t: 
1. 2095 	 2. 9025 
3. 6059 	 4. 9216 	 ' 

19. 	By what percent the number of students of class I in 

year 2017 is more then the number of students of Class 

Il for the same year? 

1. 60 	 2. 75 

3. 35 	 4. 33.33 

19. 	cl 	2017 	T ZI 	I 4 ftrOzn' 4 -s-k.czil z---41 

c1 	# .a-IT II 	ftrrf 0-q- 	c4) 	• -it.q4r t fb---A- 

-4i ArasM.  31t1t I 

	

1. 60 	 2. 75  

	

3. 35 	 4. 33.33 

Direction (Q.20-21): First two terms are connected by 

some relationship. The same relationship is applicable for 

the next terms Identify the suitable pair. 

-NT (c .20-21) :ITO .-)- -ZI--  itTi'l TWO- 	\g.. 	)c) 

t I 	31-TT 	.-iGith: 	T) 	f'67 'It zit 	14z.T 	(-in 	lc-it 	t I 
'11-  \it-I 	cp) 

  
vo 

20. 	Square : Cube 

1. Rectangle : Cuboid 	2. Triangle : Square 

3. Quadrilateral : Cuboid 	4. Cuboid : Rectangle 

20. 	ci 4 	: 	--1-1 

1. 	3TTEI-d.  : ENT41* 	2. -1 1-p.  : WI 
-74-1.  : 3IRic1 

 
3 	'q-g0-  : EFIRT 	4. 	ti . 

21. 	82 : 9 

1. 	5 : 26 	 2. 6 : 37 

3. 35 : 6 	 4. 26 : 5 

21. 	82 : 9 
1. 5 : 26 	 2. 6 : 37 
3. 35 : 6 	 4. 26 : 5 

22. 	If A = 2, T = 40 and ACT - 48 the TAKE is: 

1. 68 	 2. 58 

3. 74 	 4. 76 

22. 	TIft A = 2, T = 40 3.1I• ACT = 48 t -th TAKE t : 

1. 68 	 2. 58 
3. 74 	 4. 76 
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Direction (Q.23-27) : Identify the wrong number/letters in 
the series : 

N-VT (A.23-27) : lEfFT 	1i dc1 i-i't.sql /31a-TO WI 

1:1-6t11.) 	: 

23. 	126, 98, 70, 41, 14 
1. 98 	 2. 70 
3. 	126 	 4. 41 

23. 	126, 98, 70, 41, 14 
1. 98 	 2. 70 
3. 	126 	 4. 41 

24. 	1, 3, 7, 15, 31, 65, 127 
1. 7 	 2. 	31 
3. 15 	 4. 65 

24. 1, 3, 7, 15, 31, 65, 127 

	

1. 7 	 2. 31 

	

3. 	15 	 4. 65 ' 

25. 7, 28, 63, 124, 215, 344 

	

1. 28 	 2. 63 

	

3. 124 	 4. 344 

25. 	7, 28, 63, 124, 215, 344 
1. 28 	 2. 63 
3. 	124 	 4. 344 

26. 	AD, EG, IJ, MM, QP, UP 
1. EG 	 2. UP 
3. QP 	 4. MM 

26. 	AD, EG, IJ,MM, QP, UP 
1. EG 	 2. UP 
3. QP 	 4. MM 

27. 	Z8, W5, T2, Q8, N5, K3 
1. K3 	 2. T2 
3. Q8 	 4. Z8 

27. 	Z8, W5, T2, Q8, N5, K3 
1. K3 	 2. T2 
3. Q8 	 4. Z8 

Direction (Q.28-29) : First set of words are related in a 
certain way. You have to choose a word. So that another set 
of words also become related in same manner. 

NT (A.28-29) : '41- 1 WI (16d1 Wig 1 --#1-  9T 
,)4 14 cr--  VI---  tf 	* i 3-A-  iict-V l,11  71.s.q -q4 

1: 1-4 7R-r 	1 ,sq TTY A-  .itil wcok tr Ti--4ftff t.  
,-II 	- 

28. 	Transition : change : : Immobility : ? 
I. Stillness 	2. 	Liveliness 
3. Action 	4. Busyness 

28. 	LI 	ci 	ict)lei 	: 	Glqefici 	: : RQT---dr : ? 
1. f'r 	 2. 

'WM 3. 	 4. 	cititc-icii 

29. 	Grain : Stock : : Stick : ? 
1. String 	2. Collection 
3. Bundle 	4. Heep 

29. 	3T-9.I 	: litTR : : 133: 

	

1. 	ctrd-ii 	 2. 	X14,16 

	

3, 	'43-F 	 4. 	a, 

30. 	A is B's sister. C is B's mother. D is C's father. E is 
D's mother. Then how is A related to D? 
1. Grand father 	2. Grand mother 
3. Daughter 	4. Grand Daughter 

30. 	A, B ThI ..1 t 1 C, B - 1 -lir t 1 D, C 5T I1cti 
t I E, D c6) 141-  I 	A, D 7)- -We W ct)k iterd 
t1 
1. 	q I q I 	 2. 	q I 
3. 	-%1) 	 4. 	4 

Direction (Q.31-33) : Find the odd one out : "NT (A.31-33) : 1riff "Wr 1-4 : 

31. 	A) Crusade 	B) Campaign 
C) Expedition 	D) Cruise 
L A 	 2. C 
3. B 	 4. D 

31. 	A) tlitg4- 	B) 307:11-9 
C) R.-4) 	ti1741- 	ID) Trg trzi--ci 
1. A 	 2. C 
3. B 	 4. D 

32. 	A) Clove 	B) Cinnamon 
C) Apricot 	0) Pepper 
I. A 	 2. C 
3. B 	 4. D 

32. 	A) 	ei) 4 I 	B) 	qIcl-c1)-1) 
C) Tir-4t 	D) f -4 

1. A 	 2. C 
3. B 	 4. D 

33. 	A) Acre 	 B) Yard 
C) Mile 	 D) Meter 
1. A 	 2. C 
3. B 	 4. D 

33. 	A) lcP. 	B) ql 
C) 	.1)e.1 	D) 1 
1. A 	 2. C 
3. B 	 4. D 
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34. In a certain code MONKEY is written as XDJMNL. 

How is TIGER written in the same code? 

1. SHFDQ 	2. HFDSQ 

3. QDFHS 	4. PQRST 

34. Bch 	-1 .z.lifftU ci.) 

t I 

5 #, MONKEY cr) 	XDJMNL 

ra-Ryr 	\Aim zitt 	cpls 

2. 
4. 

4 	cp) 	c1 	f -- 1-r 

HFDSQ 
PQRST 

‘51N+11 I 
1. SHFDQ 
3. QDFHS 

35. In the following 

in a certain 

complete the matrix. 

	

1. 	16 

	

3. 	13 

matrix, certain numbers 

way. Choose the 

are arranged 

missing number to 

35. Thl-  ft/sr ,m 3)- 1-.  L  IN 3T1 	. -4 c4-2,ts, ti,Lczir34 

raerd Wzrr nzil t I *ti 3Trait col tpt ct,< -) 
f3r---Erft-qu 

I. 	16 
3. 	13 

117  

3T511iici cf) 	I 

14 

1 7 9 1 7 9 

2 14 ? 2 14 ? 

3 105 3 105 117 

2.12 
4. 

	

2. 	12 

. 	4. 	14 

36. What value will replace `?' in the figures given below:- 

42 	 36 	 38 

3 	15 	3 	9 	10 	20 

6 	 9 	 19 

1. 	0 	 2. 	1 
3. 2 	 4. 3 

36. 5.1.-11 	.$ 721T9-  TR r4-•ifc1I 	cf -1: 	4 c61.-r Trr 

36 	 38 

3 	9 	10 	20 

9 	 19 
2. 	1 
4. 3 

3iT 31-r7Fre 
42 

3 	15 

1. 	0 
3. 	2 

37. Five plays - K, L, M, N & 0 are to be staged from 

Monday to Friday of a week. On each day only one 

play will be staged. 0 should be immediately followed 

by M. L should be staged immediately after N. One 

play is staged between K and L. N or 0 should not be 

the first or last play. Which is the second play to be  

staged? 

1. M 	 2. 0 

3. N 	 4. K 

37. cch t1,-c116 14 - 4t1=1-4TR-  

K, L, M, N 	12,TT 

YIshc1k Oct) Lli-cl -litcp- 

0 -P-4-10c1 f:-74-1 v1N 4 II I AST 

R-1 	c.t) 	-11t4) 	V41td 	.WzIT 	v-IN 411 I 	M 

9- 	0 	Vk-I 	NIA 	fl. 	vilcil 	I 	I 	-T-r  

	

Aq'IA --zf 	t 

7,T N 1:M1 	•$ 

17t K 31 	L 

T.-i -  

-q• 

fl.  31--  

.1-r9-  

NIA fzTT u1101 I 	-) 	̀1Itcr,  t 

i-d-  6)oitINITTTO TRft 9 

30 9.  .# VeAd -TIT $) cl I 	t I 	s-01-1 

On I? 

0 
K 

--Iltct) 	qti 

I. M 
3. N 

uR ;r<ftd 

2. 
4. 

38. In a town of 500 people. 285 people, read "The Hindu" 
and 212 people read "Indian Express" and 127 people 
read "Times of India". Only 20 people read "The 
Hindu" and "Times of India", only 29 people read 
"The Hindu" and "Indian Express"and only 35 people 
read "Times of India" and "Indian Express". 50 people 
do not read newspaper. Then how mall)/ people read 

only one newspaper? 

	

1. 	123 	 2. 	213 

	

3. 312 	 4. 	321 

38. 500 riW * Th.--4 # 285 ri)41 

	

"q 	" it7S- 	311-R.  

	

c -`2T1 	127)71* ' 212 	ei) 41 	Ifttf9. 	c•Ni 	tI 

"ti*4-iti 3i-P:M. 	"fi).- 11" 	UFO t i 	ccic-1 	20 	ei +I 

" tI*4-1t1 3TIT 	cbclei 29 
 Vftzfr, 

" 	 ".4-P -49-  r1) 4 I 	ft-- " 47 
3tTz  5.  

Tqs9-1)-Ri" 3N ccief 

"tI*4-K-1 35 	ei)+1 "P-571-9.  .$-P---zfT" 	31N-  

.ST-49-1)--e" t1-0 * I 50 (-1)+I 3M-4R -161 TO t I 

c1 	fr4 c.11+1 churl -Leh 31T5IVR" TO t? 

1. 	123 	 2. 	213 

3. 	312 	 4. 321 
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39. Which of the following venn diagram truly represents 

the relationship between Truck, Ship and Goods. 

2. 	0 

• 4. 

39.r419•r-ditcrff •49* 31-ft•a• 4 'R4 Off TriBch, vmvf 

q t111-11.-1 T 4-4 ,z-issizT cP) ter mcr,I 	t 3,teru 
cil ,MI t I 

1. 	 2. 	0 

3. 0 O 	4. 

40. Identify 	the 	diagram 	the 	best 	represents 	the 

relationship among the given animals - Reptile, Lizard, 

Lion. 

1. el, 	2. C}D OF 

40. \3'1 -r4- 	4 u1-6- 1-9-  c.0 '). 1b 	.-1 Rq 111  
.T-21-rft 	ct,  tm Ti--161-  if-4u 	rff 	: 	1 .) 	cii (,) 	vt- q , 

14 cl) 	, 

1  • ge 	2
.OD 

er 

3.  0 0 • 0 • 0 0 • 0 

41. If '-' stands for '+', '+' stands for 'x', '+' stands for 
`-' and 'x' stands for '+', which of the following 
equations is correct? 
1. 40-10+5+4 x 5=21 
2. 40+10-4x 5+3=80 
3. 40+10-4 x 5+3=32 
4. 8-4 x 40+2+15=30 

41. tift '-' TT '+', '+' 31.21.' 'x', '+' TT 31.21 t `-' 
8117 'x' (PI 	'+' 31.21 * .M).  f*,i11Z5ci 4 0 cr1.-1 
tT till)cul tel.  t I 
1. 40-10+5+4 x 5=21 
2. 40+10-4 x 5+3=80 
3. 40+ 10-4 x 5+3 =32 
4. 8 - 4 x 40 + 2 + 15 = 30 

42. P, Q, R, S, •r, U, V and W are sitting round the circle 

and are facing the centre. P is second to the right of T 

who is neighbour of R and V. S is not the neighbout of 

P. V is neighbour of U. Q is not between S and W. W 

is not between U and S. Then who is sitting opposite 

to W? 

1. S 	 2. Q 
3. U 	 4. T 

42. P, Q R, S, T, U, V 3117 W T ----7.6) 0'0-0 IcilcON 

-I% NT4 	t I P, T 	tfit4 ZT2T 4 mg) V-i 

- 	1 R 3NVT1titittIS,P 

TrzLE-41-161tIv1uTT.E*A-tIQ,sqw 

61.  t 	.4 .$ 	61 t c' 41-ci -1 	l w, u 	S 	41-4 -1 	1 W  
ci faurtclli 4-6r t? 

I. S 	 2. Q 
3. U 	 4. T 

43. Find the ratio in which rice at Z7.20 per kg be mixed 
with rice at Z5.70 per kg. to produce a mixture worth 
Z6.30 per kg.? 

	

1. 	2:3 	 2. 	1:3 

	

3. 3:4 	 4. 4:5 

43. cad 37111-rd %Tff T-4 ft-i4 Z7.20 MRc ft-61 q0 
Tficicr1 	ct)) Z 5.70 51fc 	A-  clic4 -cliciqf Afitr--6r4 
TR ft(  3Tul-  26.30 5t1c 	1 ----6)-  citoi -q-9-  viN I 
1. 	2:3 	 2. 	1:3 
3. 3:4 	 4. 4:5 

44. A pupil's marks were wrongly entered as 83 instead of 
63. Due to which the average marks for the class got 
increased by hall The number of pupils in the class is:- 

	

1. 45 	 2. 40 

	

3.39 	 4. 37 ?  

44. lch u1,1 T 3i-cF Tra-th t 63 * TQ.,TT9 ITR.  83 
fR31-  ftzir Trzrr I 	tic i cmur TO' T 3ftTM• 3iThl 
4 31.0 4 it t wth t I c,  i1. 4 f+--d--4 kpi-)f 

	

1. 45 	 2. 40 

	

3.39 	 4.37 
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45. 	A watch which gains 5 seconds in 3 minutes was set 
right at 7am. In the afternoon of the sane day when the 
watch indicated quarter past 4 O'clock, the true time 
is:- 
1. 9pm 	 2. 7pm 
3. 4pm 	 4. 5pm 

45. 6 
t 
 	a-iiii--i--d 4 	-? t44 5 .)ct-)u 	31T4 610 

1 	*ti 	tk4) 	col 	.W1H-1•T4.0. 	•t-lict 	.1,. 	Trit 	d 

1%-41. 	41e4I 
'WM Thl' 
1. 	9pin 
3. 4r,m 

2Til 311.  R-1 u1G1 TO-  Eft 
ft- T4-r vet t 	-ifer 	ii-1,4 

\Licil 	zit 
qzfr z\p-rr:- 

2. 7pm 
4. 5pm 

46. 	A student multiplied a number by 3/5  instead of 5/3. 
What is the percentage error in the calculation. 
1. 54% 	 2. 64% 
3. 74% 	 4. 84% _ 

46.  1 	13-1- 	5/3 
Tin c 	ftar 

1. 54% 
3. 74% 

.-"i. 	.4---T7 	-)-.R.T-C4T1' cp' 3/5 
-F w.  t? 1.1.-li 4 urd-zrd- ,A 

2. 64% 
4. 84% 

47. Two goods trains each 390m long are running in same 

direction on parallel tracks. Their speeds are 42 km/hr. 

and 36 km/hr. respectively. Find the time taken by the 

faster train to cross the driver of the slower one? 

1. 6 min. 	2. 	12 min. 

3. 	18 min. 	4. 4 min. 

47. 197,T ITT 	IT .1 -911§1.  (-14,114 	('l -11 (t).) 3901:110 
fOIT 4 zi,,,1 t, .c4.) T̀iTTMT 	I 	11Citzll ER 	c.t) 1ft 

I 	 5.0 4-R I: 42 	/ Tal 3-9-4-  rift 	f•%-lit 

	

tit 1 	-NT 36 
 

u1) ft c)\J1 0/tit1 t I 	c16 	11-1q 	Vc-1 	qA 
04141-  k tflt 40 -q-r- r 	(.14114) g',- 	'1(Ict) 	c1)T 

ATE (m.). 4 eiiiiz41 t 1 
1. 6 ft1-9-Z 	 2. 	12 f49z 
3. 18 ft1-9-Z 	 4. 	4 ft:f9Z 

Direction (Q.48-50) : Study the Pie chart 
answer the 	fol owing questions. 	Pie 	chart 
percentage quan ity of fruits of two shops A and 

carefully 
shows 
B. 

and 
the 

fk-47T (A.48-50) : 71-4-  
t-114 	-c-11J 

-c118' Thl.  gill -4 zi-4.  3-N A791 
T 	't-k 	'' I 	z.16 q) V)1,-iI AzIT B 4 
4 ;rfa-t4i-d-  

( 

1-11:ii 	.-)- -q-71-tur t 1 
Guava 

2% 

Others 
30% 

Orange 
20% 

Mango 
24% 

Apple 
14% 

Guava 
16% 

Cthers 
26% 

Orange 
20% 

Mango 
24% 

Apple 
14% 

aFtWiq 
2% 

3 

30% 

\Li. 

20% 

31-171 
24% 

14% 
'a 

3ra 3)-4 

34--;fwe. 
16% 

3.14 

26% 

3tcra 
20%  

31-111 
24% 

14% 

Shop A 	 Shop B 
(Total quantity 1200kg) 	(Total quantity 1000kg) Sco1-1 A 	 S`01-1 B 

Qf 111:11 1200 ft-A) 	(ct),1 +-11-:11 1000 RA 

48. 	What is the difference between the quantity of Guava 
at Shop B and that of Shop A? 
1. 20kg 	 2. 25kg 
3. 40kg 	 4. 	16kg 

48. 

3T-7 
1. 

3ct)1-1. 	B 	q 	et )1.-1 
t? 

20 f4)79).  

A .4 31-r-knq -T1 TITT k cl-q I 

2. 	25 ft-a-1 
-a- 3. 	40 r+---A- 	 4. 	16 ft 

49. 	The quantity of Mango at Shop B is what percentage 

of the quantity of Mango at Shop A? 

1. 20% 	 2. 120% 

3. 84% 	 4. 150% 

49. ScOl-f B # 3114 4 91,41, 'pi-1 A 14 3.11* 4 
1-11-)11 	TT 	d-9T 	M flc-1 	t I 

1. 20% 	 2. 120% 
3. 84% 	 4. 150% 

50. 	If the price of Mango is Z30 per kg.,. Apple Z40 per 

kg. and orange Z20 per kg., then what is the ratio of 

their cost at She 	A? p  

1. 	4:5:6 	 2. 	9:7:5 

3. 4:5:1 	 4. 	2:5:7 

50. 
Z 
Tfft 311-ff 4 TITdi Z30 111c 	t, T)-4 tl. mt-rd-

Z 20 VfW 40 lAt .ffzIT 	.-ic-1 	4 	Tli-Td.  
f --T4 A-  t vim A -1).  3-9- 1 cal 1 410 4)1 31-Tfrd 

2. 9:7:5 
4. 2:5:7 

ctql 5 411? 

	

1. 	4:5:6 

	

3. 	4:5:1 

Page 8 of 32 



51. 	In given question, select the correct alternative : 
Monotony : Variety : : Crudeness : ? 
1. Sobriety 	2. Simplicity 
3. Raw 	 4. Refinement 

51. 	-1-r7 w 	- 1f to -i-4-40.  lit7 - 
Monotony : Variety : : Crudeness : ? 
1. Sobriety 	 2. Simplicity 
3. Raw 	 4. Refinement 

52. 	If B is 20 metres south from A and C is 10 metres 
North from D and A is 10 metres west from D, then 
where is B from C? 
1. North-East 	2. North-West 
3. South-West 	4. North 

52. 	41 B, A 	20 ItEd7 '4140-1-  I).  * .a2.TT C, D 
-eft-e--  10 41-d7 	.c.N # t, 3N" A, D 	10 	tri -Tr 

14 t 	Eic11 	B, C 	T---.4 4 ft-Ri ftwr 4>? 
1. 	\3-th..--ci 	 2. 	\i-c-I 	lz1 

 4, 	- 	 -tiftq 
• 3. 	-rutr-tri044. 	4. 	1•? 

53. 	Amit ranked 161h from the top and 29th from the bottom 
among those who passed the examination. 6 students 
does not participate and 5 failed in it. How many 
students were there in the class? 
1. 	50 	 2. 	55 
3. 44 	 4. 52 

53. 	3A-ff A 3.-Atu 	§ 	ft-arfORTI 4 	--(R t 16-0 
-1W ..241.  -11-4 -t 29t Wrff MIt-c1 itzIT I 6 ft 

4& -ir . 	'ITTIT -1g).  ITET -ff211-  5 ftIvt 370,4 
t)-  ITV 61(11* 	-ITT -4 it-dA f4-araTi 0? 
1. 50 	 2. 55 
3. 44 	 4. 52 	. 

Direction (Q.54-55) : Ananya is older than Shruti, Arti is 
older than Ananya but younger than Kusum. Kusum is tr-R-% 
older than Shruti, Shruti is younger than Arti and Geeta is 
oldest.  

ffitz N.54-55) : 31-9-44r, %it t '4t t, 3i13-- It 3F-Rjr 
7). 	.4 EF)t1-  t I WI 	t TA.  

t 1  vt, 3l_t ti 	t 3i17  troT Tr4.0 .41t  t I  

54. 	Who is youngest? 
1. Ananya 	2. Shruti 
3. Arti 	 4. Kusum 

54. 	V-40 liket 01 t? 
1. 	311 	 2. 	50 
3. 	311-dt 	 4. 	Vgl.  

55. 	Who is the middle with respect to the age? 
1. Shruti 	2. Ananya 
3. Arti 	 4. Kusum 

55. 	39 * 3171TR.  El) ti 14 41 t-.2  
1. 	t-f'c 	 2. 	31-9-R41 
3. 	317th 	 4. 	Mil' 

56. 	A and B are brothers, D is brother of E, C is father of 
A, E is daughter of B, Then who is uncle of D? 
1. A 	 2. B 
3. C 	 4. D 

56. 	A 34R-  B 9T4 ti D, E .TT 1-1T4 t C, A -cb-1 firdT 
t I E, B .1 T-41- 	D WI mi I T41 c1;1-I *1 
1. 	A 	 2. 	13 
3. C 	 4. D 

57. 	Which digit will appear on the face opposite to the face 
with number 4? 

t4401  t460 
1. 5 	 2. 2 or 5 
3.2 	 4. 2 or 3 

57. 	3i-- 	4z" 'WI-ft t1c-1 	TR 0-1 	:11" 3i-- 	6) 411? 

40 t460 

1. 5 	 2. 2 or 5 
3.2 	 4. 2 or 3 

58. 	If four different portions of a die are shown, what 
number is opposite of 3? 

e 	
6 	3 

114 6 	4400 	k400 	5 p 
1. 6 	 2. 	5 
3. 2 	 4. 4 

58. 	q , 	cl-> -61 LIR) 	-c4K wb-cr T47 TI7 t 
3 -$ forrtra 0.-i TiT 3i-- 	6'1 I 

40 40 tioo 4.0  
1. 	6 	 2. 	5 
3. 2 	 4. 4 
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9. 	Study the figure given below and find those youth who 
are in service but not literate? 

Youth 	A 	Lit ert erate _.....*  

59. 	t- 	't 'I 	31T-Tt r-P) tzi19 .0 tift017 31N Hell 
(1.i .0 71 •-nct?) 	aYi1 4 t, 	-f'+--9-  Trraw -16-1 
t? 

Servicemen , 
I. 3 or 4 	2. Only 7 
3. 2 or 7 	4. 2 or 5 

Illy 4w-41 ilur 

	

1. 	3 TIT 4 	 2. 	c0M 7 

	

3. 	2 zfT 7 	 4. 	2 TfT 5 
.0. 	In the number 59164823, how many digits will be as 

far away from the beginning of the number if digits are 
arranged 	in 	descending order as they 	are 	in 	the 
number? 
1. 3 	 2. More than 3 
3. 	1 	 4. 	2 

60. 	'WY -it 59164823 14 	) it-A 31. 	t, -1c-ff74 
W-)-- 	ti•Lszi 1 	W74-I .R-4 Ufft el,•a TIR-  t 1c t 
4 3iThl 4 3171ter mi-r 4 	-i-,3-iii) 4 4i 	t I 
1. 	3 	 2. 	3 	3-T 3). 	f4T 
3. 	1 	 4. 	2 

. l . 	How many such pairs of letters are there in the word 
EDUCATION, each of which has as many letters 
between them in the word, as they have in English 
alphabet? 
1. More than 3 	2. 	1 
3. 2 	 4. 	3 

61. 	Y1.sq EDUCATION A 3TaitZ ft-dA ul 	Y) g 
'N4 -f -ff- 	liar \30.) er 3i&-7 t 	Alt qurr9-r -r 

14 \.-fc 	TfuT Oc- 	t? 
.0 	0-  

	

1. 	3 	3Tf 	 2. 	1  

	

3. 	2 	 4. 	3 

Direction (Q.62-65) 	: 	Study 	the 	following 	information 
carefully and answer the questions given below : 
A, D, E, F, H, J and K are sitting on straight table facing 
towards south. 
D sits fouth to the right of A. E sits at the left end of the 
table. Five persons sit between E and K. J sits third to the 
left of K. and F does not sit immediate to D. 

ft-47T (A.62-65) : fkPitit-d" vii.-rwrt co) 	9...frff t 
3Taiziff ct) 	--1) - 	r4 	-ri 	VVTft $ \ -ck tft317 : 

A, D, E, F, H, 1 31 	K --f4T 	30 i6 ct)Xc, 	#Itft 
..QTT9* 4)v-I 1-17 A8 * I D, A 	t0 	"TV A-6T t 

4 E tifiU $ GIN It-R. IF b I E U2lT K * tq.  t-rl -c4 ujiraff 
g I 	J, K 	611 	T). 	t-N-1 	--2-117-1 	ri-R- 	AZT 	t I 	F, D 	'4). . 
ft----F 61,1c1 4 -164 AZT *1 

62. 	Which of the following person sits exactly at the 
middle of the row? 
1. 	J 	 2. 	F 
3. 	11 	 4. 	A 

62. 	1-4-.-A 	c-I 14 *Y9.-TiT uLfWf 1-41:0- 	Tr-cif 4 
A-61 V 
1. 	J 	 2. 	F 
3. H 	 4. A 

63. 	How many persons sit between A and H? 
I. 	I 	. 	2. 	2 
3. 3 	 4. 4 

63. A U2TT H 	4M -W-d-4 "v:Iff At t? 

	

1. 	1 	 2. 	2 

	

3. 	3 	 4. 	4 

64. Three of the following four pairs are alike in a certain 

way based on their positions and so formed a group. 

Which of the following does not belong to the group'? 

I. AF 	 2. JH 

3. EA 	 4. FH 

64. 	\3tAct-c-1 ul-q7P-TT 4 A-64 IR f ,--i q 	(-1 4 tr c-11-1 
itt .qm-R-  31-9-FT t 	7.-11 	‘3-1 chi 	ct) iTilt 
60-1c11 t I (-16 	, c61-r-\,-{r t 4r 	-1 -ffilt-  4 -1f 
31Fc-rr t? 
1. AF 	 2. J11 
3. 	EA 	 4. FI-1 

65. 	What is the position of F with respect to H. 

I. Second to the right 

2. Exactly right 

3. Second to the left 

4. Third to the right  

	

3. 	GlIqV-NI  

65. 	H 	taa-T 14 F cI)I ci-)).-f-TiT 7-e -TM t? 

1. 	qiq t c1,-ki 
2.ft---F, 	qN 

4. 	qlq t 	ffi3T 
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66. Find out the missing number 

A 
: 66. 

. 

WU 	'-it-q-11 	-I1c1 	ThlIff .R.  

A 

2. 84 
4. 66 

V4 . 1 7 
AM a t . 

VA I IV 
Al I 1 a li V 

I. 72 	 2. 	84 
3. 68 	 4. 66 

V 
1. 	72 
3. 68 

67. Find the missing number in given question : 67. R1-1 	14 .-1 1 tk-q-I 1 	-I1c1 lf1c : 

2. 326 
4. 336 

9 8 7 9 8 7 
6 7 8 6 7 8 
5 4 6 5 4 6 

260 216 ? 260 216 ? 

	

1. 	191 	 2. 	326 

	

3. 330 	 4. 336 
1. 	191 
3. 330 

68. Find the missing number? 

4 	9 

AiVititi 
68. Uf 	. -ftc-LII 	1Ic1 e117? 

	

2. 	12 

	

4. 	14 

4 	9 

Rind 

	

1. 	7 

	

3. 	16 

Williq 

	

2. 	12 

	

4. 	14 

	

1. 	7 

	

3. 	16 

%If 
69. 	Complete the series from given options: 

a_caa_bcc_aabbb_cc 

1. bbca 	 2. Abac 

3. bbac 	 4. Babe 

69. 	f Tr -r4mzil 14 34 	T-et foo4 1.-Ict, 	311fr 

cc 
2. Abac 
4. Babe 

ct)) t.i,I 

a caa bee - 	- 
I. bbca 
3. bbac 

q.: 

aabbb - 	- 

Directions (Q.70-71) : Study the following information to 
answer the given uestions. 
In a certain code 'always create new ideas' is written as 'ba 
ri sh gi' 	ideas and new thoughts' is written as la gi ma ri' 
`create thoughts and insights' is written as `ma jo ba fa' 
`new and better solution' is written as 'Ici ri to fa'. 

(g.70-71) -ft-bl.  -1 ,-1A 	, d ,1tl.-11 ct-, afl-9-  tr 1T4 Wr 

new ideas' ch) 'ba ri sh 
thoughts' cP'1 'fa gi ma 
and insights'T.)* 'ma 

better solution' Thl* 'ki 

ftg.  wril* \-cr< trft7: 
14 'always 

* I 'ideas 
t, 'create 

create 
and new 
thoughts 

new and 

'cl.) f4ftrtz cv 

gi' f' -- fl. 	ullc-11 
ri' 	.1f1-  
jo ba fa' 
ri to fa' 

\311cIf 
.1T 	‘31101 	't, 
ifT 	vtIcll t I 

70. 	What is code for 'ideas'? 
I. 	sha 	 2. 	gi 
3. ba 	 4. ma 

70. 	'ideas' TT 

1. 	sha 
3. ba 

2. 	gi 
4. Ma 

ci.),,t 	cf-zil V 

, 
71. 	What does `fa' stand for? 

1. thoughts 	2. 	insights 
3. new 	 4. and 

71. 	'fa' t cMI 

I. thoughts 
3. new 

V 

2. 	insights 
4. and 

'ffEeci4 
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72. 	Question figure - 72. 	A79-  3TT-# 

Ak  CD ? A C)  C ? 
Answer figure 3-ci 

1.  2. 10 I.  2. 

3. 0 4• (:/:\:::)  
1  0 4. /:) 

73. 	Questions figure - 73. 	.q-.  3i I c-.. f 
r* 

$40 
• • 	... % I: 

iiiio 
• Al. . e4 t.• 

2 • 
4.6•  

°• 

•,0 
• • 	4. VA+ 

0,0 

2 

Answer  figure \J-:-N :-.i1 

I. iiii 
ii• 

.0. ... 
2. 0  

iii• 

noir 

1. 0 
0 
VW/ 
/NW 

0% 
2. 0 

0% 

4 
%

111k 
Or 

3. ';li  
oill. 
MM. 

• 

Ilk 4. 3. iM 
.. 'nor .. • 

. 

74. Questions figure - 74. 	7V -  3T1#0 - 
[AM • aik .. Art • 7  JAM elk ••• dati • 7  . I TIP ' VP - MP TV Mr - Mr 
Answer figure -(-1 	31 	) 

- 'CID 
AM 2.  

411 
rip/ . ©©ISM 2. CID rirf 

aill illl 3 .  alk 4.  AIM 
3.  TIP 

4. 111317 
TIP 

 law 

Direction : 
bear close resemblance. 

A set of four figures 
Select the 

are given 
odd one 

in which three 
out. 

f ---gr 	: 	-c.IN 34 -FT-RI -Ell' 	cbi 	'c.1-) 	 TiT7 ft-ziT 	 41zu t, F -9-4 
'1--  4 "-) -( 4.1I.-R-11 t I ftlili 3TTFIRI cf)) .1f -q" I 

75. 	Select the odd one out. 75. 	ITT 311 ch) 	--17 I 

AI P 10,. l. g 11, 1. 2. 2. 

3. 
.r 
AU 4 

• 
ilb 
V.4 

3. 0 4. 
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76. Select the odd one out. 76. ft-1,1 3-Tiff 	ch) 	I 

e  ,. 0  e i. 2. 

3. 4. G 3.  4.  

77. If a 

figure 

Question 

mirror is kept 

is the correct 

figure 

on a line, 

mirror 

: 	M 
• 

then which 

image of 

of the answer 

question figure? 

77. 	tn- 	(.1) -Ttur ail 	) tGT Lk TGT um] t -th 

\I-K-1 	4 t 	Y-q.#T 311-0 	";17 	3iffit Thcl 

'FT-ft 3TITI" t? 

/ 

• 

M O 

• 

• • • • • k 

A7 	31T-Ti 
M 

11111 

•, 
k 

Answer figure 
k 
N 

1. 

• .• 
I 

(1111 
2. 

®.  • 
I 	' 
\ 

K3TF 3TFTt. 	N 

1. 
0 

0 

2. 
.•• , 

I 	' 

3. 
• 
I 	' 4 . 

.• 

,  . • T\ 

\ 	(1111 

4. 
II) 	 

78. 	Which of the four alternatives given below is the 

correct water image of the question figure? 

Question figure : 

78. --.Th-4 i-e,7 	+1L -,,N 	ci-),,,i • 14 t 	 cil.i  	-1 

341- t c)-  Wei tur-4 aft t? 

979.  3The0- 

Answer figure 
\3-kN 3 

1 2. 1. -).  

3. 4. 3.  4.  
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79. 	Which one of 
complete the given 
Question figure : 

tr.  

the 	given 	alternative 	figures 	will 
figure parttern? 

79. 	f 4 l 	3TTFIt 4-e-4 if 74 09--4t 	-,c.t,14cr, 
31-17It A .-1 Wit cf)) k0 	-tTrf? 
q.-1 34Tet  

Answer figure 111Pr  

1. dc 2. 7'‘  1. (' 2. 

3. 4. X 
3. 4. 

Direction (Q.80-81) : All the surfaces of a solid cube of side 
4cm have been coloured black and cut into equal sized cube 
of side 1cm each. Now answer the following questions : 

ffift.  N.80-181) : lcp 4*W0 Div 	clic>) 6)•(-I t-11( t 
Ti1-TI lpe cf)) cr) I dr t TT 4 N i t, 31-4 \i 	1tit0 '41-1- 
clic) 	'fl111-1 	t,1.1I 4 cP1d1 	v1101 t I 	I R 	-ctz9I t 
\Tk-k tif -7 - 

80. 	How many cubes are there which do not have any of 
their surfaces coloured? 
1. 0 	 2. 24 
3. 	16 	 4. 8 

. 80. 	WA t1-1 	W- 	ci lit tit* 4,1 cll "Itj •-o-  t? 
I. 0 	 2. 24 
3 . 	16 	 4. 	8  

81. 	How many cubes have two of their surfaces coloured 
with black on the opposite surfaces? 
1. 4 	 2. 	2 
3. 0 	 4. 8 

81. 	it-d-4 t.ii-i •  * t 3TFA-TirPf4c 	ke:0 coley ti 

7 V 
1. 4 	 2. 2 
3. 0 	 4. 8 

82. 	Ina row of 40 children, A is 13th from the left end and 
B is 9th  from right end. How many children are there 
between A and C, if C is 4th to the left of B? 
1. 	12 	 2. 	13 
3. 	14 	 4. 	15 

. 

82. 	40 -41- 	c,t) 14-WI k, A Gil' 	3tu 7).  13-4 
72119- 14R. 	.T1-  B g I 	q 	34--.  t 91 72119 '711 
za C, B 	N Iq.4-cilzfrtrA31-17ct-41 
4 -f --d-4 El -c; 	t I 
1. 	12 	 2. 	13 
3. 	14 	 4. 	15 

Direction (Q.83-85) : In a family A is younger brother of B 
and D is the son of B. D is brother of E but E is not son of 
B. F is grandson of B and C is cousin of E. 

fir (v.83-85) : Bch brIt4F # A, B --1-  *di-  lilt 
.d.QT-1 D, B c, 	.tl.  t I  D, E 	f 1-1TM.W9-  E, B -WI 
4t1 	-161-  t I F, B TT L1)01 * -d-P-TT C, E . "7 .c.i.a 1.-Tr/ 

83. 	Who is the father of F? 
1. A 	 2. B 
3. C 	 4. Can't determine 

83. 	F c-01 1:4UT ct).-1 t? 

1. 	A 	 2. 6 

3. 	C 	 4. 	$10 .161 

84. 	The relation of A with D is. 
1. Father 	2. Brother 
3. Cousin 	4. Uncle 	, 

84. 	A TT D t c1 .41 \LiGIZT t I 
1. 	fi-dT 	 2. 	1T1-4 
3. 	zi'l 	lilt 	 4. 	tilT41 

85. 	The relation of E with F is - 
1. Uncle 	2. Aunt 
3. Grand Father 	4. Brother 

85. 	E zb-T F c 'UM AZT t - 

	

1. 	zircil 	 2. 	.1-4.1 

	

3. 	qlql 	 4. 	ITT-4 
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86. 	How many times are the hands of a clock at right 
angles in 12 hours? 
1. 24 times 	2. 48 times 
3. 22 times 	4. 44 times 

86. 	Gt) GOcili '41 '47g.  ti 	4 itd--41-  .4N tv-icr, ul 
Bch t? 

	

1. 	24 GIN 	 2. 	48 WR.  

	

3. 	22 GIN 	 4. 	44 GM 

Direction (Q.87-90) : Find the missing character in the 
following figures. 

-ft•- •71-  N.87-90) : f 	ntr 1 -  4 tg 	g cr)l fat I 
87.4 8 5 87. 4 8 5 

	

10 	8 	14 	22 	11 	15 

	

1. 	16 	 2. 	196 

	

3. 	100 	 4. 	144 

10 	8 	14 	22 	11 	15 

1. 	16 	 2. 	196 
3. 	100 	 4. 	144 

88. 0 0 0 0 0 0 

C 	e 	0 

	

1. 49 	 2. 63 

	

3. 48 	 4. 50 

88. 00 00 00 

C 	e 	0 

	

1. 49 	 2. 63 

	

3. 48 	 4. 50 

89. 	2 	 6 	 2 

4 0 6 14 66 4 2 0 13 

2 	 4 	 7 

	

1. 40 	 2. 32 

	

3. 35 	 4. 30 

89. 2 	 6 	 2 

4 0 6 14 66 4 2 0 13 

2 	 4 	 7 

	

1. 40 	 2. 32 

	

3. 35 	 4. 30 

90.  90. 
7 9 11 7 9 11 
2 3 2 2 3 2 
53 88 ? 53 88 ? 

	

1. 	125 	 2. 	100 

	

3. 	129 	 4. 64 	- 

	

1. 	125 	 2. 	100 

	

3. 	129 	 4. 64 

91. 	1-low many triangles 

AL 
are Cher in the given figure. 

1. 	15 	 2. 	14 

91. 	it TN fi 4 

AL 
ct,,o f --d4 ft-. • t? 

3. 16 	 4. 20 

	

1. 	15 	 2. 	14 

	

3. 	16 	 4. 20 
92. 	If2 x2=16,2 x 3=36,2 x 4=64 then 2 x6=? 

1. 72 	 2. 80 

3. 96 	 4. 	144 

92. 	i1 	2 x 2=16,2 x3=36,2 x 4 =64 .1.  2 x6 =? 

1. 72 	 2. 80 

3. 96 	 4. 144 
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93. 	10 + 	25 + j108 +,154 + 	225  

TIM viici c0 I 

	

1. 	10 	 2. 	8 

	

3.6 	 4.4 

93. 10 + 	25 + j108 + .1154 + N/22 	find the value: 1 

	

1. 	10 	 2. 	8 

. 	3.6 	 4.4 

94. Find the correct figure. 94. 	*16):4 ct) 	# : 
I 

A 

A 

IIA A 

A 

IIA 

o 
? 

o 
? 

1. 0 
<111 

2. .0 

On 
1. 

0 

al l  
 2. 

0 

OH 

3. 
0d 

4
. 

A 

HO 
3. 

0 

Of 
4. 

A 

ko 
95. 95. 

Air 4 AIBP' 4 
2  1 1 1 1 2 

Which number is opposite to 3? 

	

1. 	1 	 2. 	6 

	

3.5 	 4.4 

3 * r4t1ttU '07itf .4-1. 941 *? 

	

1. 	1 	 2. 	6 

	

3.5 	 4.4 

Direction (Q.96-100) : Study the diagram and answer each 
of the following. 

/A.& 

N141.  (ST.96-100) :  	Fri:4 	t4 . 	utTr 
'1. 	'' M-1 	‘i-k-N 	I 

AkAallk 
20  ink 30 40 20  Ailik 30 13 

w w20 20 

A Person who takes tea A tim ,1).) (40 .ui-Wr 

'a-iiit4 	t cli 	 ulf4ff Person who takes Lassi 

0 	l'itt 	.) ii c4 arif 0 Person who takes coffee 

96. 	How many persons who take tea and lassi but not 

coffee? 

1. 20 	 2. 	17 

3. 25 	 4. 	15 

96. 	-WA" alfdff TIN 	 311R' 'Milt e) 	 t -Aft-9" 	'1‘.61 

-161? 

1. 20 	 2. 	17 

3. 25 	 4. 15 
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97. How many persons are there who take both tea and 

coffee but not lassi? 

	

1. 	22 	 2. 	17 

	

3. 7 	 4. 20 

97. it-d-4 -aff4Ti zwz.i 3i 	.'-i-c6)- 	t Awff 

fig? 

1. 	22 	 2. 	17 

3. 7 	 4. 20 

98. How many persons take lassi? 98.  r+-d-4 u:AU 	-feft c) 	t? 

1. 	100 	 2. 82 1. 	100 2. 82 

3. 92 	 4. 	122 3. 92 4. 	122 

99.  How many persons are there who takes only coffee? e) 	 p 99.1 --d-4 isief 	rcct tt 

1. 90 	 2. 45 1. 90 2. 45 

3. 25 	 4. 20 3. 25 4. 20 

100.  How many persons take all the three? 100. f+-c 4 arftff ci)-1.  (,)c. 	t? 

1. 20 	 2. 	17 1. 20 2. 	17 
3. 25 	 4. 	15 3. 25 4. 	15 
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PART - II 

SCHOLOASTIC APTITUDE TEST (SAT) 
/1%-  trzidr 441411 

(QUESTION NO. 101-200) 
i-itv4i 101-200) 

101. The 	sound 	of 	same 	pitch 	and 	loudness 	are 
distinguished from one another by their. 
1. Wavelengths 	2. Velocity 
3. Quality 	4. Tones 	' 

101. 	1*--I 4 *1 .1 --RiT gm *vii-t migqicti ir cikcci 
4 WftzlI 14 3.T 	itzrr \11d1 t-  I 
1. 	--41-1- zzi 	 2. 	-1-r 
3. 	,Ilulci-c11 	 4. 	tci'' 

102. A water pump lifts water from a level 10m below the 
ground. The water is pumped at the rate of 30kg/min 
with 	negligible 	velocity. 	Calculate 	the 	minimum 
power the pump should have to do this work. 
1. 49 J/s 	2. 490 .1/s 
3. 500 J/s 	4. 48 J/s 

102. 111.4) TT 	.) 1:174:1 	TTI9.  'e 	•&K•R-4 loto •#r• tf 
t-111 ITITE T7 30 	D7d) 4)14-1 	i1 i  
-1,1uzi -41-1- 	741-9.  T \'-k-N tH dIc11 t tpzi ETT 

€'tr' -  tir <t-p<4 	vicp-f wr4u 4 flutii 	I 
1. 49 J/s 	 2. 490 J/s 
3. 500 J/s 	 4. 48 J/s 

103. Six identical resistors connected between points A, B 

and C as shown in diagram. The equivalent resistance 

would
t, 

be maximum between. 

C 

RIAISR  

103. 	U: .crffia--* 	.Wq---T ed-RhT tp-ivi *, Per 17)- 
-1:7 	3T1frR f 	A, B 7-4 C T 61)zi \Y1) 	*I 

e g 	dT wr 3rf 4w-diT TrF 6111 
C 

filikilii  

A 
1. 14-- A3NB"' t 

.14 	f'm 2. B 3tYc 
 

3. 14% A 3tYR.  C T 41-.  

A 	 B 

1. A and B 	2. B and C 
3. A and C 	4. Option I, 2, 3 all are correct 

4. Tit ftWFT 1, 2, 3 -iTet t 
104. A particle of mass 0.3kg. is subjected to a force F = Kx 

with K = 15 N/m, what will be its acceleration if it is 

released from a point x = 20cm. 

	

1. 	1 ni/s2 	2. 	10 m/s2 

	

3. 	100 m/s2 	4. 0.1 m/s' 

104. 	-) 0.3 D)ei 4-i Pi 	c24 4-11.1 T ilul F = Kx rF TT 
id dlimi \11d! * (vO K = 15 N/m), out TT 
cur R-1*- 	c(ivi cm Om, La c1 	x=2o,M. f4i 

TT 	v11) I 

	

1. 	1 ni/s2 	 2. 	10 m/s2  

	

3. 	100 m/s2 	 4. 0.1 m/s2  

105. An object 
time graph 

velocity 

is moving in a straight line. The velocity- 
is as shown below. Then - 

B 

A  I 

105. 	ct 	qR'S 	tNei 	--GT 	tR 	J I 	411-1 	* I 	CN- 	Th-T 
41-.(11-1q 

-,-r  

4,114) 	-1) 	-1't-li-qT Trzrrti .-4 - 

B  

 A 

0 

1. In part 
2. In part 
3. In part 
4. In part 

time 

OA acceleration is increasing 
AB acceleration is increasing 
OA acceleration is decreasing 
AB acceleration is decreasing 

0 ,414-R1 

't 1. 4-TFT OA 4 ccNui qg ‘6I 	I 

2. aim AB 4 ccNui 611, .1 t I 

-Fr 3. 9 OA 4 c-(Nui tit 	61 t I 

4. ITITT AB 4 c(Nui Erz , 5i t 1 
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106. A force of 100N acts on a body so that the body acquire 

a velocity of 10 m/s. after some time. Now the force of 

100N is replaced by another force F which decelrates 

the body and body come to the rest then. 

1. F > 100N 	2. F < 100N 

3. F = 100N 	4. All options are possible 

106. 'crT TkI TR 100N 11 GM 'TM cfrtc-fT t NTI-4 

citti 7-- 	N4-cii 1141q 	‘JIN1.c-( 10 IftOrikWuZ 

-1.  kT 5111-c1 .-3-  (d) t. ifs *ti 100N TO 

't 	''1 6Icei 	""R. -4-il TR 	.tt.) 	6iei 	F 	d 4 iii.ti 	vilcif 

Citg 	l'Ef .  ct).“ 	%14-1140-1-f TIR.  "M. 	c11 	t 

1. F > 100N 	' 	2. F < 100N 

3. F = 100N 	4. Tit f4WF:f it4TAT 

107. 2 points A and B are at electric potentials 10V and 
100V respectively. A charge q is taken from A to B 
and 18 Joule of work is done. The value ofq is : 
1. 2 Coulomb 	2. 0.2 Coulomb 
3. 20 Coulomb 	4. 0.02 Coulomb 

107. f4. 31I A 74 B N9M7 fttr ft4-1-4 sP4-in 10V 

31'W 100V t qR 	ct) 311-4ZT q 1 A 	B t,f 

\Al 	4 18J WI' cf)14 .1 .-Iff until t q " -r lin.  t: 
1. 	2 	cfr114 el 	 2. 	0.2 ctri 1 k.f 

3. 	20 VI fret 	 4. 	0.02 ctr111-4 

108. Which of the following is NOT correct for magnetic 

field lines. 

1. The direction of magnetic field lines outside the 

magnet is from north pole to south pole. 

2. The direction of magnetic field lines inside the 

magnet is from south pole to north pole. 

3. The degree of closeness of magnetic field lines tells 

the relatives strength of magnetic field. 

4. Magnetic field lines never form closed loop. 

108. 	1.4--1 14 *I44-4-4 4-).-.  •KfT311. 	W- 	4 f -C11" 

Trzrr Orr Tri- ..e,T9' tIN •Igl t I 

1. TTY 	6116.< 1Rrtzi &L)--. 	tqi mt Rii 

3--et p tf * -f -uft gq" 	c1 4) oatI 
2. 1-Rf- 	1-11-d7 11 4-- 17:1 &'-' 	..ql 	Rn 

t'uceftg-43)-u-tgq- c-1,44, e-th t I 

3. 11 1Therzi &-)-' 	I 31TT*T AGIcitil.  cf ITiferzt 

A-F tM.31.1. 	*1t1.101 ti ?,-vrizir .4101 t I 
4. IRF4zr . 31-rzl zut A- 	.i-d.ff ego ii61 Aril& 

. I 

109. A car moving along straight line covers 1/5'h of total 
distance with speed vi and remaining part of distance 
with speed v2. The average speed of car over entire 
distance is. 

5v1v2 	 4v1v2 
 

1. 	 2. 

109. 	lcp  ct)1 	Altft hqf 4 4 1 	411r1 *, 	-17 31cit 4'q1 

'qlel 0 TT 1/5t IITTT v1 	t MTT tlEi GI "ci I gall 
ITPT v2 tilts t vr wedt t, ri Ta 
cf.)H . r 4-9-ff tilei *)- 1 

5vi  V2 	 4Vi V2  

	

v2+4v1 	 5171+112 

	

Sv
1

v2 	
4v1v2 

1. 	 2. 

	

v2+4v1 	 Sv1+v2  

	

5v1  v2 	 4v1  v2  3. 	 4. 
4v2+v1 	 4v1 +v2 3. 	 4. 

4v2  +v1 	 4v1 +v2 

110. Light travels through a glass slab of thickness t and 
having retlactive index n. If c is the velocity alight in 
vaccum then the time taken by light to travel this 
thickness of glass is. 

t 	 nt 
1.- 	 2. - 

nc 	 c 
net 	 t 

110. 	4-cf 	ct.) 	-014 (dcpt) NR-f- r't itd-r-4 t MIT 

3TTF4-44. 	n * 	mcDRE 41.rmil *, 	if 	fkciici 
-4 AST . (1-  diet c t 	qcpm m--)-  \Aisr 
ltell 4 tr vt,?.) 4 1%--d-T .99g c,v)4111 

t 	 nt 
1.- 	 2. - 	. 

nc 	 c 
net 	 t 3. 4. 

c 	 n2c 3. 	 4. 
c 	 n2 C 
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111. 
0-30 
connecting 
through 

The resistance of rheostat shown in figure below is 
0, Neglecting the resistance of ammeter and 

wire the minimum and maximum currents 
the ammeter will be. 
2.2v 

111. 	17,f ' 	T:4TM 	41 	UTRT 	1. -1 -Act) 	Afd*T 

0-30Q t, 741-d7 UP-TT ON) TT AWP-1. 	-14lu4 

ITIff 7 7eite-3.  t 	tv,i,4-) qr-Jt 	-9--dii 3fi7 

3TRIT-dli tTRT Tr' TITff 6) 411 -
2.2v 

100 	0 

NW 
1052 	0 

NO 
1. 
3. 

200 	3052 
(0.08A, 0.33A) 	2. (0.06A, 0.08A) 
(0.06A, 0.33A) 	4. (0.33A. 0.09A) 1. 

3. 

20Q 	3052 

(0.08A, 0.33A) 	2. (0.06A, 0.08A) 
(0.06A, 0.33A) 	4. (0.33A, 0.09A) 

112. Three particles A, B and C are thrown from top of a 

building with same speed. A is thrown upwards, B is 

thrown downwards and C is thrown horizontally, they 

hit the ground with speed VA, VB and Vc respectively 

then. 

1. VA = VB = VC 	2. VB > Vc > VA 

3. VA = VB > VC 	4. VA > VB = VC 

112. a-i chub A, B .q4.  C Thl.  1ch 	411.<c1 * thin tf 
c,t) ti411-1 -cum t Tt-wr Am{ t I A .*1 *111.<c1 tf 

'TER 	 r 	lzu (61 cw-r, B 4" -1) 	u 	UP-TT C 
 

rd--.  ftur -4 xtwr .nicii t 1 4t9I cpui .14.11,T ER 

it 

3. 

0417i: VA, VB UP-TT Vc -r-Ilei t dct)lc) *, U)-  1 ,..f 

1. 
t t1g) itw-F4 t 1 
VA = VB = VC 	2. VB > VC > VA  
VA = VB > VC 	4. VA > VB = VC 

113. An object of height 2.0cm is placed on the principal 
axis of a concave mirror at a distance of 12ml from the 
pole. If the image is inverted, real and 5cm. in height 
then location of the image and focal length of the 
mirror respectively are. 

1. (-30cm, +8.6cm) 
2. (-30cm, -8.6cm) 

3. (+30cm, +8.6cm) 
4. (+30cm, -8.6cm) 

113. 	31-4 c[q LI. 	ITCojf 3T4T tR Ta tf 12 	0 

 r17 SrT 2.001410 *-4- .q-- 	_.41 Wth *1 

ziR 	otg .-T 	MrO( 4,51 	5.4)4)0 	Sill, 	‘1(<1 .QTT 

c1N-clict) c4-1c11 t ff).  w1 ,-,si 	qtlui tr 	cr-4 

4. 

qtlulIfilTh-Ri V st)11Y1: t7ft I 

1.  (-30 )4)0, +8.6 s)4)0) 

2.  (-30 x1)41).0, -8.6 x')4)0) 

3.  (+30 .M10, +8.6 x1)41)0) 

(+30 ')4-T10, -8.6 .)4110) 

114. 
the 
When lead Nitrate is heated a brown gas is evolved, 

evolved gas is 
114. 

1.  

2.  
3.  
4.  

7-4 c)5-1Q 	ch) 1T4 'f --ziT vlIcll t, 1-1- 	"47 

41t1 \ic*iNci ter t, g6 	 
1.  
2.  
3.  
4.  

Dioxygen 
Nitrogen dioxide 
Nitrous oxide 
Dinitrogen 

5i*31MT1-79-  
-11* 0\51-1 51*3#4TT- Z 

'11 	*t1 31TW1T-0 

51-11*0%31-1 	 • 

115. 
iodide 
of 	  

When a solution of lead (11) nitrate and potassuim 
are mixed, the yellow ppt is formed, the ppt isfk-ezM --).  

. 

115. 	c)5 (II) 	-ii*e'U2TT 	u18 	1z14-1 	3TTZT)3TO 	* 

v1G1 	((11q1 	vilc11 	t, 	th. 	S41,-cf 	a.) 

1. 
3. 

KNO3 	2. Kcl 
Pb12 	 4. Pb14 

cilell 	tfic.il zi---4-cr 6101 t 	 
1. KNO3 -1. 	2. Kcl TT 

3. Pb12WT 	4. Pb14 .1.  

116. Baking powder is a mixture of 	. 116. 

1.  

2.  

3.  

4.  

refl. 1T-337 'ftfigDT * - 

1.  

2.  

3.  

4.  

Sodium hydrogen carbonate and oxalic acide. 

Sodium carbonate and tartaric acid. 

Sodium hydrogen carbonate and tartaric acid. 

Sodium carbonate and oxalic acid. 

afz-p-f 61*,1,1.-r cpiq •)d .mir 3t1-4TritT 

31.1 1 TT 
\1-M- 41-1 (MEI 	C U2TT c'NeRct) 3PE TT 
ai. z4 4-f 61*vi.-1 cPicil-) 	UP-TT t'kd 	co 
3TTF TT 

a 1441-r Ohl 6Pd U2TT 3T1-4Ne6T 31(1 WE 
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117. Aqua Regia is a mixture of concentrated hydrochloric 
acid and 	concentrated nitric acid 	in the ratio of 

• 

117. 	"t0EIT 	'f'- z1T- 	•<11 	311 f 74 tli 
-Err-d-  r4-ft- 	zi- r chi   3T-j4 ftPltur 6 cl 1 

t I 

	

1. 	3:1 	 2. 	2:1 
 

	

3. 	1:5 	 4. 	2:3 

	

1. 	3:1 	 2. 	2:1 

	

3. 	1:5 	 4. 2:3 

118. C1-13CH2OH 
conc. H2S041 Products (*ii) 

443K 

The products formed in the above reaction is/are - 

1. Ethene and H2O 	2. Ethyne and H2O 

3. Ethane and 1-120 	4. Methane and H2O 

conc. H2SO4
* 118. 	CH3CH20H 	‘30-11‹ 

443K 
1 ,--1 atRzrr 	‘0-liq 	- rW 4 	t 
1. 	'5'49 UKT H2O 	2. 	.P.TT47q 'MU H2O 

3. 	.$-P-)-9.  'MIT  H2O 	4. 	1±1/49.  c.P4T H2O 

119. 'Denatured alcohol' is mixture of 
l. CH3OH and HCHO 
2. CH3OH and CH3COOH 
3. C2H5OH and CH301-1 
4. C2H5OH and CI-13COOH 

"ft 119. 	-T-.  L. elcl)6M" f453TuT t - 
1. CH3OH UP-TI HCHO Thl 
2. CH3OH'UQ-1T CH3COOH Th-T 

3. C2H5OH U2TT CI-130H Th-T 
4. C2H5OH c .2.T1.  C1-13COOH MI 

120. For welding a mixture of oxygen and 	is 120. 	3T-TIRt179 U2TT 	ftrwr -wr q6.-r 	c4,1 
burnt. 
1. Benzene 	2. Butane 
3. Methane Methane 	4. Ethyne 

c, 	7 -1 --zi-r \An t I 
1. 	41rff 	 2. 

3. 	tti 	 4. 	.2.1T-4-9.  
121. The following metals are arranged in the increasing 

order of their metallic character. Choose the correct 
option.  
1. Be<Si<K<A1 
2. Si < Be < Al < K 
3. K<Al<Si<Be 
4. Be<Si <Al <K 

1. Be<Si<K<Al 
 

2. Si<Be<Al<K  
3. K<AI<Si<Bc 

 

121. 	p+g-iii.z.gcf tll-71-1 cr, 	-9-$- 	--:a0-  § 	ETTfcTT ttul 
-4 31-rzTR-  tr7 wq-NT-d-  f -zrr ,izii * I Tit wii 

4. Be<Si<Al<K  
122. 	Which one of the following oxide is insoluble in 

water? 
1. Na20 	 2. CuO 
3. K20 	 4. Ca0 

122. 	Pi-if 	cl 	# .R4 	0-1 	TiT 3T-T4TiTO 	‘ A el 	14 

Zi Sri i era" *? 
1. Na20 	 2. CuO 
3. K20 	 4. CaO 

123. Which of the following oxide turns red litmus into 
blue? 
1. SO2 	 2. CO2 
3. NO2 	 4. K02 

123. 	1 i 4--t 	43-)- 	col-r •RiT 31Tq 1TO 	eilri 	f. 	d 4-1,4-1 
.1)eil 	chi 	411? 
1. SO2 	 2. CO2 
3. NO2 	 4. KO2 

124. Which one of the following is not a green house gas? 

1. CH4 	 2. 03 

3. CO2 	 4. SO2 

124. 	14--111-Zgo Irik 7: -lift ft 	i).-1 zro--e 41 ti 

-1g1 *? 
1. CH4 	 2. 03 
3. CO2 	 4. SO2 

125. Which of the following element does not show 

allotrophy? 

1. Phosphorus 	2. Sulphur 

3. Oxygen 	4. Aluminium 

125. 	1 1-.-AR..lci 4 -0 0-1 TIT 	cicci ZicrcidT rlgi 

-‘:4-rf--d-r *? 
l, r 1. 	1-01ti) 	,Z-f 	 2. 	tiett 

 
3. 	3TIVe 	 4. 	ker4z1li 

126. Which one of the following will have the largest 
number of atoms? 
1. 100g of He 	2. 100g of Na 

3. 100g of li 	4. 100g of Al 

126. 	Pi--AR.qo 4 t f --i-P4 IRTIT0131)' 4 titczii 

.rz-11qI 	6)+11? 
1. 	100 VPi He # 	2. 	100 1,11ff Na 4 

3. 	100 VTici li 4 	4. 	100 911-1 Al # 
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127. Rearrange the following sentences and choose the 

correct option. 

a. Breakdown of H2O into Hydrogen and Oxygen 

and Conversion of light energy into chemical 

energy. 

b. Reduction of carbondioxide to carbohydrates. 

c. Absorption of light energy by chlorophyll. 

1. a4b-->c 	2. c->b-->a 

3. c 4 a -> b 	4. a 4 c 4 b 

127. 	f47 

a.  

b.  

c.  

I. 
3. 

T17 -qTaTh:  cr, 	ii-4-dTqfiv_m ct-, 	I 
vwrtzr 6,,11 (4,1 	ftw.Pcr) 6,),11 # . ,)1-11.(-1R0 

ct).-II 72T1 uld 3931- 	c.01 	1*) \51.1 3t7 
3t'Mit 	4 311:1179.  I 
cl-)14-1515 31'iq'Scil-0 WT cm.shiq 	4 
3-7M71-9.  
ci-c-i)•?114)ci 	ciki 140-)m 	0')uii Thl 31Tti 
cr).-II 

a-->b--->c 	 2. c 4 b 4 a 
c 4 a 4 b 	 4. a 4 c 4 b 

128. Deepak is trying to study flow of energy in an area and 
he made the following diagram for the same. How will 
you interpret his observations? 

rock 

128.t11-- 	1 ---41. 	ui 4 i 	4,1 	31_771-9- 	ct-P? 	1> I 	t 	311-  

\ifl-) 

3171 

1.  

2.  

3.  

4.  

ftz1T 41z-1i 1" 	-1-4 m')- -0-it-zr 4 I 
\i fl ct) 31-q-at 	14 Cl 11ft:cut Ct 	1 

trezTR• 

monkey AKTIMI. 
AMMilik .... 

insects 
grass i 
Lion AMIM111111 

1. His observations and number of trophic levels are 
wrong. 

2. His observations are correct but the number of 
trophic levels can be more. 

3. His observations are wrong but number of trophic 
levels is correct. 

4. His observations as well as number of trophic levels 

are correct. 

ir-ZI 3-Ti- 	 Z.1 -d--- 	7 .  thlt cc4R1 	T , I 	1 31a 
\'-ci 	'IMO t I 

\i't1ct\5 cc1NI ft7:11 4 IL11 31 	9'  Tit * LI 
tc-t 	-z4lqi 	TIM 	t I 

3fi 	ccikl ITT JILIT 31i 	9. lleicl t 
s 	, 	I  ErR-- 	trl-lt wz Trel t 

\'d 	c.INI 	ft7TT 	'NI 	3 	i C.i 	1. )- 

'-C-N Tit t I 

129. UV rays cause cancer but in stratosphere the same UV 

rays are helping us, how? 

1. They divert harmful UV rays back to sun. 

2. They convert oxygen in stratosphere into ozone. 

3. UV rays are not present in stratosphere. 

4. UV rays reach the earth surface then bounce back 

carrying ozone to stratosphere. 

•Ji 129. 	1-Hi 	1713) 	i•TR Th-T cl-)Nul .g)-th t 1:17 	Zit 

f+701 

1.  

2.  

3.  

4.  

1:11t1 1:1-4-q '41 TTer t, (W? 

t 1 cfrth -I 1:1-0F4 qr-J1 1-N14 4 i -.1) r+7Ern:  cl)) 

,TN-r 4  qrfku 	3tR -cf)- 	tth t 1 
-TT 	TI7 'cR 	it  3-G-E4ci 	3TIW 	cb)  

' N 	eic1 t I 
.JA 1-N1 	ft--,4 \1-G-c1cN tc-N ITR-  It-A---  •-rgl.  

I 

1-N14-414) 17113) z.T7t c.61 Tr-d-g R4 tcr, icrr 

34-WF A-th § 	1-ucict? *c1 	TR IT-Wr t 1 
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130. Match the following 
(i) Regeneration 	a) Shoot 
(ii) Rhizophus 	b) Pollengrain 
(iii) Plumule 	c) Vegetative Propagation 
(iv) Rose 	d) Planaria 
(v) Stigma 	e) Spores 
1. (i)-a, (ii)-e, (iii)-d, (iv)-b, (v)-c 
2. (i)-b, (ii)-d, (iii)-a, (iv)-c, (v)-e 
3. (i)-b, (ii)-a, (iii)-d, (iv)-c, (v)-e 
4. (i)-d, (ii)-e, (iii)-a, (iv)-c, (v)-b 

130. 	t Tr-4 dAcpi -4 tri frfft7 

(i) 1i-9-----0-1-4 	 a) liTtcrtig 

(ii) '5‘.r1  qt1 	 b) 	LNi 4 icoui 

(iii) mict-2, 	 c) Wftf- 	A-409' 

(iv) lraT4 	 d) t-c)-)140 

(v) cO.c1714,1 	 e) IMTul 

1. (i)-a, (ii)-e, (iii)-d, (iv)-b, (v)-c 
2. (i)-b, (ii)-d, (iii)-a, (iv)-c, (v)-e 
3. (1)-b, (ii)-a, (iii)-d, (iv)-c, (v)-e 
4. (i)-d, (ii)-e, (iii)-a, (iv)-c, (v)-b 

131. The opening and closing of the stomata depends upon 

1. Oxygen 

2. Temperature 

3. Carbon-dioxide 

4. Water in guard cells 

2. c111-1 4-11-1  
3. T149.-5I 	zil  

131. 	.R 1)-1?1-dT TT tia-fft 30 4q A-ffl.  We tR 

• cr)cil t? 

1. 	3v1-44M-9.  

4 	-- aro 
4. 	Ti7aTT c0)P1ct)13-11 14 vier IR 

132. Sonu performed an experiment to study dihybrid cross 

for round/wrinkled and yellow/green coloured seeds. 

He obtained 2432 seeds in total. What will be the 

number of seeds which are round and yellow. 

	

1. 	1367 	 2. 	1356 

	

3. 1368 	 4. 	1438 

132.Ti-Yt A 11 	*-)" T17 "q). f 	r) 	4tEMI/ 6, 1 

30 ,I)c.1/%1 	-Wr 3TaTzM f$-41-  ruff #10 t 
ct;c4 2432 At-- 	\104 -̂I .g-7 I 	-414- 	titszn 
fftg q 1037 'Ili t I 

	

1. 	1367 	 2. 	1356 
 

	

3. 	1368 	 4. 1438 

133. The stakeholders of various forest products are 
(i) People living near forests 
(ii) Government only 
(iii)Nature lovers 
(iv) Wild life 
1. All options are correct 
2. Only (i), (ii) and (iii) is correct 
3. Only (ii) is incorrect 
4. None of the option is correct 

133. 	c1,--1 3-0:11-41 4 Tff4 t 	-I-ff--$Y-ff Tk-qR.  t I 
(i) F 	311717M. 	64 cue) cri 4 i 
(ii) R4 ,Wct>1.< 
(iii) -5r& 	II) 
(iv) ci.-i Qc-I 
1. Tit f4T71 tib) t 
2. itE6 (i), (ii) 30 (iii) Tr-lit t 
3. it4 (ii) 41(40 t 
4. ci4 lit .Titt -A * I 

134. Choose the correct sequence 

1. Pulmonary vein --> Pulmonary artery -> Left auricle 

4 Right ventricle 

2. Pulmonary artery 4 Right auricle -> Left ventricle 

4 Pulmonary vein 

3. Right auricle 4 Pulmonary artery -> Pulmonary 

vein -> Left ventricle 

4. Left ventricle 4 Pulmonary vein -> Pulmonary 

artery -3 Right auricle 

qitii fkalr  

134. et 3F p-1:1 1.4 

1. tr-gr ftru --> its-v-tsd Z144 --> €44 31.f .q 
--> 

2. rp:TV Mit 4 WW1 3TRi4 4 qitii feiti 

4 tgEttge Pkr 
3. NIL  Rrif 3T1Wq 4 r-gErcr Mit 4 trupi 

NI 4 qlzii f4a-Er 

4. c I 4I f4-d-zi 4rgcFcff  f ft71-  4 tryi tilIt 

4 Gal 311 -q 
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135. Assertion (A) : No carbondioxide is released during 
the day in plants 
Reason (R) : only photosynthesis occurs during the 
day 
1. 'A' is true and 'R' is false  
2. 'A' is false and 'R' is true 
3. Both 'A' and 'R' are false 
4. Both 'A' and 'R' are true but 'R' does not explain 

'A' 

135. 	3TRI-Tzl 	(3T): 	1:1T-4-c4 	14 	R-1 	4 	cpiG1.151  

3IITITIO -1g1 1cocicl, 
ciMul ((): R-I -4 ftrit 	ict,Ri tNe).1.1 Ocii t I 

"3r 	 " 	' 1. tl 	3ft 	1e1c1 a t 	7 	4 	t 
'31' 	 IT' 2. 1100 t 3117 	Trg).  t.  

"31" 	"T" 3. 3117 	i 1 qi cl t 
"3T" 	'' 	 '3T" 4. 4)-4 	3117 	'Oa-  t t'' 	.96) 

. c4its-il 	-i 	t 
136. Choose the non-biodegradable substance from the 

following. 
(i) 	Carrot 	 (ii) Glass bottle 
(iii) Perfume spray bottle 	(iv) Rice bran 
(v) Papaya 	 (vi) Thermocol 
(vii) Wooden stick 	(viii) Ball pen refill 
1. 	(ii),.(iii), (vii), (viii) 	2. 	(ii), (iii), (vi), (viii) 
3. 	(iii), (i), (v). (vii) 	4. 	(viii), (v), (i), (iii) 

136. 	1)4--1 	cl 14 3144 f)4c-mu 4 (-1q12-t 11 
(i) 	iIiv-N 	(ii) (01-4 4 tic 
(iii) 	*-)1 	4 -71n-t- 	(iv) 	tiiciei 	4 1-1--ift 
(v) 1qt-dr 	(vi) 211=6TYF 
(vii) W -11" 4 tp 	(viii) Grid z).-1 4 R'WF 
1. 	(ii), (iii), (vii), (viii) 	2. 	(ii), (iii), (vi), (viii) 
3. 	(iii), (i), (v), (vii) 	4. 	(viii), (v), (i), (iii) 

137. Match the column I and column 11 and select correct 
option. 

Column I 	 Column II 
A) Ribosome 	 i) ATP formation 
B) Mitochondria 	 ii) Photosynthesis 
C) Centriole 	 iii) Protein synthesis 
D) Chloroplast 	 iv) Cell division 
1. A-1, B-2, C-4, D-2 	2. A-3, B-1, C-4, D-2 
3. A-4, B-3, C-2, D-1 	4. A-2, B-1, C-3, D-4 

137. 	cojoil 13117  cbsIcypi 11 w.  Ic 	c4 7-4 

'3t1' \3•K-N 	-q.) 1 
coiri+-1 I 	 cbie11-1 	II 

A)1*.s1)*1)4-1 	i) 7.t.t. TT 61-1-11 
13) 1-11*d chIPLII 	ii) 	wchRi 	tNe)qui 
C) .- .q ri 	iii) Wk TT rficifur 
D) ctei))t-c,.11\ 	iv) cO)11c01 rOTT7 
1. A-1, B-2, C-4, D-2 	2. A-3, B-1, C-4, D-2 
3. A-4, B-3, C-2, D-1 	4. A-2, B-1, C-3, D-4 

138. Which of the following 	is a barrier method of 
contraception 
1. Diaphragm 	 2. Contraceptive pills 
3. Tubectomy 	 4. All of the above 

138. 	1-,--A1Z.qci 4 -R4 0--i-it Tr4 Thtzi--- 	4 -IftIT 

Wr t 
1. 	51Z114.)11-1 	2. 	Trlf r4tw-T Thfo-trf 
3. 	d‘zicrt14) 	4. 	\I (-1.<)civf Tit 

139. Sperms are produced in the 
1. Seminiferous tubules 
2. Interstitial cell 
3. Vas deferens 
4. Prostate gland 

139. 	ti -iTT \ict-i1<-1 	6 c11 t 
1. ,W.-1),--1 zTrtF -4 
2. *-t•'-ci)Pi4ei cr))Picot 4 
3. Oki 11^(-1 
4. "clYi*d '04 4 

140. Blood pressure is measured by an instrument called 
1. Barometer 	 2. Sphygmomanometer 
3. Photometer 	 4. Manometer 

140. 	•cto-city 	cp 	41ll1.) 	-zi-- 	ct) 	co6 	t 

1. 	0).<) 4-1) 	 2. 	t11-6) 41 11) 4)-1)41) 
3. 	,old)4-)d' 	 4. 	-1 

141. If AABC is an Equilateral Triangle such that A (2, 2) 
• and centroid of the triangle is (-2, 2) then find the 
length of its side. 
1. 4 units 	 2. 6 units 

3. 4/ units 	 4. 9 units 

141. 	L11 	AABC BcP Tiliqig -1 -4-p t -d-eu A (2,2)30 
(-2, 2)'N'i-p.  TT c.)- cf.) t, t 3-RiTat 1T * c'T 
. --4.r4 zid . t.fl I 
1. 4 	44 	 2. 6 *ct)li 

3. 41r3-  *ct)li 	 4. 9 	c-t.)li 

142. The sum of the n consecutive odd natural numbers 
starting from 5 is 60. Find the value of (n2  - n). 

	

1. 20 	 2. 30 

	

3. 42 	 4. 56 

142. 	5 	_1.‘1 /4) 	-) 	citc4 	"n" 	st- ii 4 ic1 	Vied- 	Misi-li 
titc4(311 TT 4)+l 60 t I 	(n2  - n) WI TEM 	11c-1 
.tr.-7 1 

	

1. 20 	 2. 30 

	

3. 42 	 4. 56 
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143. The sum of the first 'p.  odd natural numbers is 100 & 
the sum of the first 'q' even natural numbers is 90. Find 
the value of (p + q). 

	

1. 	18 	 2. 	19 

	

3. 20 	 4. 21 

143. i:Ie.). 	p.  P415111.  TITTMT ,4-itcLii31 	W.  zi)4i 100 31 -R.  

- q 'q' 

(p + q) 
1. 	18 
3. 20 

'4141 ATedT •k-kszia m-r 1''l 90 t, 4 
Th-T 4-il-1 slid ur7 I 

	

2. 	19 

	

4. 	21 

144. 

	

If x + 1, 	 1  = 1 and y + 	= 1. then what is the value of 

	

Y 	 z 
144.  (z + -1- + 1) (1)1 'EA X+= 1 	7 y + 	= 1, t 	x Y 

1 	4 	z 1-  

/ 	1 
V + -x- + 1). 4-IN 	crLII OJII I 

I. 	0 	 2. 	I I. 	0 	 2. 	I 

3. 2 	 4. 3 3. / 4. 3 

145. If 3/1; + 3/4 +V 7:  = 0 then the value of (p + q + r)3  

is 

145. o z1R4 3.173- +:;5+W= *, 4- 	(p + q + -)3  WI.  

4-11-i 	04  If 	: 

1. 3pqr 	 2. 9pqr 1. 3pqr 	 2. 9pqr 
3. 27pqr 	 4. 0 3. 27pqr 	 4. 0 

146. I r al, a2 	a3 	 an and bi. h2 	b:..... b,, are two A.1' 's 146. TA al. a2, a3 	 an 31 1)1, b2,1)3..... b„ 	1.  fl 4-lick 

such that a i bi  = 120, a2b2 = 143. a31)3 = 154 the albs = i4R'97:11 *1 7-0)-F g ft' alb' = 120, a2b2 = 143, a3b3 

= 154 	I-  albs = 

	

1. 209 	 2. 89 

	

3. 	195 	 4. 29 
I. 209 
3. 	195 

2. 89 
4. 29 

147. In a AABC. AX bisects BC & AX is also the angle 147. 	AABC k AX, BC Thl-  TilitliTNU chs“-11 t 3k 
bisector of angle A. If AB - 12cm, 13X - 3cm. then AX 011T A TT 	tUT TiTt1-11 	t I LJf AB = 
what is the area of AABC. 

1. 9 cm' 	 2. 9/2-  cm2 
124-410, BX = 3*0 t 

-(gri t I 

"th., AABC Th-T al7EFF 

3. 9Nig cm2 	 4. 94-5-  cm2  1. 9 cm2  

3. 9V 

2. 9-N/ 	cm2  

cm2 	 4. 9.\/-1-75 cm2  

148. If ABCD & PQRS are two squares. such that area of 148. 31 	PQRS t 	 c1 41 *, 'd.2. TT c1 41 	PQRS .4ft ABCD 

square PQRS is 'A' m2, Then find the value of V17761. W e-1--- b-F 'A' 412  t, 8.  177 .TT 	sllc1 cf)4 I 

A 

lm 

3m 	lm g A 

1m 

3m 	lm B 

p 	 Q p 	 Q 

3m 3m 

3m 3m 

S 	R 1m S 	R 1m 

DD 
C C 1m 	3m 1m 	3m 

1. 	12 	 2. 	144 I. 	12 	 2. 	144 
3. 	16 	 4. 9 3. 	16 4. 9 

149. If cos 20 + 2 sine  0 + 3 cos 0 + 4 sine 0 + - + 200sin20 149. + 2 site 0 + 3 cost 0 + 4 sine 0 + ••• + 200sin2 0 LA cos20 

= 10050, where 0 is an acute angle, find the value of = 10050 ‘311 0 	ci-) VI cb)ul t, (sine + 3cos8)2  

(sine + 3cos0)2 m--r 91-1 S-110 	c01 
1. 	8 	 2.4 

1. 	8 	 2.4 
3. 	2 	 4. 	I 

3. 	2 	 4. 	I 
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150. A 'p' m long wire is cut into 

is bent into 	a circle and 

enclosing the circle. What 

the circle? 

P 

the 

is the 

two pieces one of which 

other into a square 

radius (in meter) of 

2p 

150. -) 	'13' 	#t0 	c -4t cik 	ct)) .5.,(4) 

cr) To 

44 14 

c 
2p 
	 t? 

# chit 	IT 

\311(-11 	*, 

cf)) 	c-j-c1 	4)) 

t I 	̀jam -el-  

P 

F -9-4 tr lcl.,  4 4 3T1-- 	V-1 

1F4 41e) LCh 1:47 ftE11-  ulldl 

i'' --- :rr (-4'r-d7 4) 

1. 

P 

2. n+4 Tr+4 
2. 

2pir 

1. 
tr+4 

P 

Tr+4 

2p 7r 3. 
27T+8 

4. 
Tr+4 

3. 2Tr+8 4. Tr +4  

151. 	In the 
AAOB 
= c m2, 

A 

D 

1. a+b+c 
3. b + 

figure. ABCD is a rectangle 
= a tn2. Area of AAOD = 
The the Area of ABOC 

such that Area of 
b m2. Area of ACOD 

(in m2) = 
B 

C 

2. a + b - c 
4. a + c - b 

1111 	11

o  

151. 3TT-ic A ABCD tcp  3iTZM.  
a 412, AAOD 4)1 -)---17FF 

t f ---ff.r4 MOB 4)1 
-4-----F 	= 

ACOD 	4)1a-4---cb--6-  
Kr 14) 

A 

D 
1. a+b+c 
3. b + c - 

C  

-)- ABOC 

= b t2, -ff2TT 

= c 41-2, 4)1 	e4---EF-eel 

B 

b - c 
c - b   

Pillii  111 

c - a 
2. a + 

a 	 4. a + 

152. In AABC, 
such that 

B 

A semi-circle with DE as diameter is drawn 
BC = 26m, the Radius R (in meter) = 

A 

75°  

DE 

152. AABC -4, Tfl-aT 	c.t) 31.0-1-(1 cziki 	•rit-I 14 DE 
-51IT ullth '1 .--*i.  t 	BC = 26 1TI---d7, c16( ffTT R 

= 	 A 

750 

D 	 E 

(41--d-R-  4) 

B 

• 

45° 	111 III 

R  

C 45° 

II 

 VI 

• 

R .....Ak C 

2. 9 - /3-  
4. 3 - .0- 

1. 3 + -Nij 	 2. 9-v 
3. 9 + .0- 	 4. 3 -V-3-  1. 3+/ 

3. 9 + -f3-  

153. 	If the values of x in the roots of the equation p(sin2  x) 

+ q(sin x) + r = 0 are complementary, then 

1. p2 = q(q + 2r) 	 2. q2  = p (p + 2r) 

3. r2 =q(q+ 2p) 	 4. r2  = p (q + 2p) 

153. TIft-  fl 4-1)ct.POT p(sin2  x) + q(sin x) + r = 0 * re 14 

2. C12  = p (p + 2r) 

4. r2  = p (q + 2p) 

x 	).-11 4 1-1 LKT- 	t, 

1. p2  = q(q + 2r) 

3. r2  = q (q + 2p) 

154. The average age of all the 100 employees in an office 
2 

is 29 years, where -
5 

employees are ladies. The ratio of 

average age of men to women is 5:7. The average age 
of female employees is : 
1. 	18 years 	 2. 35 years 
3. 25 years 	 4. None of these 

154. t  c-f) 	cmLi 

&F 	29 cit 

cv-i 	# 	'f'111 	100 	ct) 	-c41Pq):  '‘)- 311Trd 

3--5  t, f .9.4 	cr)4-Ell 

3T 	d-  

lift- rq t I 	-tEfl 

3N -grft---6-r 
5:7 t, c14 

	

1. 	18 	ci 

	

3. 	25 	citt 

c1,4,40q) 4 &P 	cm 31-T1rff 
	 lift-FT ct)4-c11 NI 

2. 
4. 

ch() 3NTff 391r- 
35 	clii 
-14 	r*,Ebl- 	1.it 	-gl:  
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1 	1 	1 	 b+a, b+c 1 	1 	1  	 , ...,b+a 	, 
40 	4 155. If-

a " 
-

"
-
c 

are in A.P., then - 1- 	equals 
b 	 b-a 	b-c 

1. 	1 	 2. 	2 

b-c 	 ab 
4. - 

155. 	q 	-,- , - t1-1-1 	(A . P .) 	6, ai Tp
-a
-- -t-  

a -  b" c 
b+c 

b-c 
6N1“6 41i - 

1. 	1 	 2. 	2 
b-c 	• 	 ab 3. 

a-b 	 c - 3. 	 4. 
a-b 	 c 

156. if (x + k) is a common factor of (x2  + px + q) and (x2  
+ Ix + m), then the value of k is : 
1. I+ p 	 2. m - q 

4. M  - q  3. 	I-p 

156. .IR (x + k), (x2  + px + q) UeTT (x2  + Ix + m) TT 

34-1-zrfiz ,_tuirit4s t 	It k 	5T TIM t :- 

1. I+  p 	 2. m - q 
1-p 	 m-q 

m-q 	 I-p 3. 	 4. 
m-q 	 i-p 

157. As a result of 40% hike in the price of rice per kg., a 

person is able to purchase 10kg less rice for Z1400. 

What was the original price of rice per kg? 

i. z 50 	 2. Z 60 

3. 	'40 	 4. Z30 

157. 	zlicle-1 T 51f 	WA 11•Fif 14 40% -4- -A 
tiftuT11-Itc4W-I 	'cr) v:Iff Z 1400 4 10 r+----o-1-  TIT 
-ciicic4 Uqrq tT1T  t I -Eli 0 cf TT wf 	WA-  WNf cr, 
.11-F:f c1-4I I 	2Te 

1. Z 50 	 2. Z60 
3.240 	 4.230 

158. A man takes half time in rowing a certain distance 

downstream than upstream. What is the ratio of the 

speed of boat in still water to the speed of current? 

	

1. 	1:2 	 2. 	2:1 

	

3. 	1:3 	 4. 	3:1 

158. 	.ct) WW1 cl) 	Z1TRT 	3-- T Rii 4 .7114 -eC 
31-4all ETRT IT-47 c,c't Rm 4 r+---41-  fe4-4a.  Tft 
T- ' -11c1 gkl 4.) 4 3TRIT •14-H-1 (-PIM t I 374F 

1-11-1) 4 -114 Tt tild TT, tiRT c, 	-cIlci t 3T11:1RT 

crqi t? 

1. 	1:2 	 2. 	2:1 
3. 	1:3 	 4. 	3:1 

159. The mean of a group of 20 consecutive natural 
numbers is M. What will be the percentage change in 
the mean when last six consecutive natural numbers 
are left from the group? 

3M ,
yo 	 2. 

3
% 1. 

100 	 m 
0/0 

300 % 	 4. - 
30 , 

yo 3.  ____ 
M 	 m 

159. 	20 s11411+Ici AT ,c 	tks41311.  TT liTal M * I zIR 

3irali 6 AT ,c 	,t-itsti131 	Th--).  6tI RW viii -a" 971T 

1:11UT M141ct,  Trial t f+--A TTI'dt4Tff T4-6.  \YIN+ I I? 
3M 	 3 

1 .
_...._ 
100 

OA 	 2.A  M0  

300 	 30 3. 
m 

 0/0 	
m 

4. 	% 

160. One box contains four cards numbered 1, 3, 5 and 7 

and another box contains four cards numbered as 2, 4, 

6 and 8. One card is drown from each box at random. 

The probability that the product of the numbers so 

drawn is more than 14 is: 

	

1 	 7 

	

1. -
2 	

2. - 
10 

	

3 	 5 

	

3. - 	 4. 

	

8 	 8 

160. 	tc1, itO 14-T1K cr)I 	t f•-f rl-R.  1, 3, 5'ff211-  7 

fIT t 3N TR:1 	ft.0 14 	jrT 	cr,i4 t fri rff 
2, 4, 6 311R' 8 f311.  t I q).-11 ft--.4 4 -4 zITTMT 

cp 	ct.) V.) f)cpidi \Aim t I ql.-II fkairA.  TT1 
ct)I51 1:F .1 -8-  31T).  TT 4r1.11-7M 14 t 3TRIT 

6).) 	wizictoi t7fri 
1 	 7 

1. -i 	 2. - 
10 

3 	 5 
3. - 	 4. -

8 8 

161. "God save our Noble King" was the National anthem 
of 
1. 	Britain 	 2. 	Italy 
3. Germany 	4. France 

-4U 161. 	c.1 3T1-q7 9)-4-6.  14-;+i-  TIME ITT 9' 2.T1 

1. 	Wff 	2. 	Te-41.  

3. 	-1:1-41. 	4. 	II)iti 

162. Who was the ruler of France during the French 
revolution? 
1. Louis XV 	2. Louis XIV 
3. Louis XX 	4. Louis XVI 

162. 	WIRTN-TI TTf .  T.  tli-Iti 1.1)itl TT .<1\511 	ch1-1 2TT? 

1. 	(14.  XV 	 2. 	(14 XIV 
3. 	cli XX 	 4. 	(14 XVI 
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163. 	Hitler was born in - 
1. France 	2. Austria 
3. Germany 	4. Poland 

163. ft-d-F7 TT ‘11"9 PIT 2TT - 
1. 	IFiRT 	 2. 	3Trkar 
3. 	741- 	4. 	i:Mu- 

164. 	Who published 'The folklores of southern India'? 

I. Rabindra Nath Tagore 	2. Natesa Sastri 

3. Mahatma Gandhi 	4. Pattabhi Srimalu 

164.  ".q 14-) ct,ciN 	31.11T ,4-N4 tftrit Th-).  f314 Mc1)1D1cf 

t 41? 
1. 	3-f4 	12T' 8,11,4 	2. 	ritl I 'VTR-41 
3. 	9610-11 T1-hi)- 	4. 	Trd-dTRI "tfiTiq 

• T-4-4 gm vit ,L,.., 	„,_, 	t,:z4 	tNIGH TiO 165. A tax levied by the church, comprising one tenth of the 
agricultural produce was 
1. 	Livrc 	 2. Taille 
3. Tithe 	 4. None of these 

165. 
ft-zir 7r4 cud' cr), 	qr - 
1. 	fM- 	 2. 	t 1*ei 
3. 	dl*q ((2T) 	4. 	*-14 A c 	i -ii 

166. What was not the aim of Swaraj Party? 

1. To participate in Provincial council election. 

2. To oppose British policies within the councils. 

3. To demonstrate that councils were not democratic. 

4. To make the Act of 1919 successful. 

166. '4-cNikri 141 	WI 1 ,.-1 0 	0 	# A ci..-ifli *474 
•-ibq 2,1T? 

grqrri 	tEfq 	5 	# 	I 1. TO 	-ficii 	liFT1 c)-11 
 

2. rOlfr<1 4 '6c) §q reevr tfaltt wr WEr 
ct),4-111 

3. q6 Rgt.-it D, Tiftti- 	cilcp00--Act, 	-4-i2T-r rigl 
t 1 

4. 1919 	74-Z ch) 	•-ii-t)ri 	4-11.111 
167. 	Who formed the secret society ''young Italy"? 

1. Otto Van Bismarck 
2. General Wan Run 
3. Giuseppe Mazzini 
4. King Victor Emmanual II 

167. ""471.  cd-A 	-114-14) tttc1 '41116-1 1%714 Orligf? 
1. 3sTfd 	calf R,m1ct.c) 
2. vi-Nef 	T9 
3. Rizitf4 Tir'ffl 
4. •1‘311 ft'q-d- 	'4--@7-F II 

168. The meaning of the symbol "Crown of Oak Leaves" 
was 
1. Readiness to fight 	2. Heroism 
3. Being freed 	4. Willingness to make peace 

168. -qq-d.  Ate/4ct) 	41LII •Wi n'd-  'WI 3T2T- 
21T- 
1. 	1p-r-  	Azrlt 	2. 	'T61-St 
3. 	3TT7l1ft17-ql. 	4. 	-VITI 	't T.116 

169. Which was achieved by the 'Enabling Act of 3 March 
1933 in Germany? 
1. Established dictatorship 
2. Hitler was appointed chancellor 
3. Establishment of German Workers Party 
4. Establishment of Weimar Republic 

169. -4 I i)14114,11 3Tf4ftzpi 3 	+1Iz  1933 -4 

ctrl ATE W? 
1. c-111IRIA 4 WI-EFT 
2. ftd-F7 	r t.1 k-le•N Erg 'ER fAljWf 
3. ‘514-1 cichi (-11c1 4 R-WTETT 
4. c119 	iluld.--3i Thl 32TTE1--qT 

170. Which of following was not related to Gandhi Irwin 
Pact 1931? 
I. Government agreed to release the Political 

prisoners. 
2. Gandhi Ji consented to participte in second Round 

Table Conference 
3. Formation of Simon Commission. 
4. Gandhi Ji called off civil disobedience movement. 

170. ITV VRft9.  RITFIM (1931)R-4 1+ic1 R c1 it tf 
cf;)-itil Tfm -1g) aff? 
1. tHct,1•4 	lui..nct-) tftzil 'W)' R61 cp 	IR 

-Tr-A.  t- ,14 I 
2. IT 	ft-dm ineAkri t -4)cirr 4 ITTM-F 

6 4 TR TIT 71 
3. t11* 4-1-1 	cWN1.-1 Th-i 116-f 
4. Tattt l'I' A.  Rift9-4 31-4-gT 3T1 -----d7 qINti 

fifT 
171. In Swaraj Flag (1921), Self Help was represented by 

I. Flower 	2. Crescent Moon 

3. Two Ox 	4. Spinning wheel 

171. tc-1.41vi TI:FT (1921) ii ailcle14,50-1 Th--E Irel- 	2U- 
1. 	V 	 2. 	31 

3. 	c) d 	 4. 	-ci.41 
 

'q)-  
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172. Coffee cultivation was first introduced in - 
1. Himalayas 
2. Aravali Hills 
3. Garo Hills 
4. Baba Budan Hills 

172.TT1' t -ctl. .8-dr ITTA 6111  -qi .  4 ,i 	2fr? 
1. 1 111(11 
2. 317MA't tltd 	t 
3. 41N) 4 II 	I 	, 41 
4. 6I1611 V9.  4 Er-61-41 

173. Which one of the following groups of state have 
largest number of cotton textile centres? 
1. Gujarat and Maharashtra 
2. Karnatak and Tamil Nadu 
3. Maharashtra and Madhya Pradesh 
4. Uttar pradesh and Gujarat 

. 173.717Thr 	T ft-Ti 1+--i c1 	TIT 14 39-44 3TMT 

cr)k-1N1 	cO41 	c, ,- 	t 
1. ttvklc-1 	31' 	1161'1 
2. ct)-1kcP 3117 c1(-1-1A 
3. 41611 	47 wizTf -SItc4 
4. 3vN 51471.  30 tkuNict 

174. Which 	of the 	following 	describes 	a 	system 	of 
agriculture where a single crop is grown on a large 
area? 
1. Shifting Agriculture 
2. Plantation Agriculture 
3. Horticulture 
4. Intensive Agriculture 

174. 	14--AftfU 4 	4-1 etc 	Bch ;1151T-A.  TT 
-4 qui-9-  crM1 t, Q161 tci) c0 al" 	-, tt 14-Pflei 

371Tt 7rt *? 
1. 32ir9f-d-T01 T-Rf 
2. *Fr T-Ri- 
3. 41 41c.11-1) 
4. t1t4-1 Of 

175. Neyveli lignite mines are located in the state of : 
1. Kerala 	2. Tamil Nadu 
3. Karnataka 	4. Andhra Pradesh 

175. 	9tt f'-II 	41--a9-I ft---fr ,i's t1 -4 ft-q-a t? 
1. 	(.4 	 2. 	- P1---6--qTi, 
3 	ct) -1 eq.) 	 4. 	3-TRT 5ft 

176. Which of the following regions is suitable to construct 
railway lines? 
1. Himalaya Mountains Range 
2. Garo, Khasi and Jaintia Hills 
3. The Northern Plains 
4. Rajasthan desert 

176. 	11--&R.qc1 14 t 4-1-i9T a-q 	Mcl 	e11 *-1).  $i 

r41:r1ur 	fM ,1,-ictv1 t? 
1. f8-9-r-a-zr Off 811- 
2. 11N), Tf11#1.  3k ,p-iffiLir 4 1461441 
3. 3Ti  
4. 't tul•OTT-9.  TT 	*c11-1 

177. Hirakund Darn is constructed on the river - 

1. Ganga 	2. Manjira 

3. Manas 	4. Mahanadi 

177. 	a'flc.t2, 	tti f -R=1 •1c TR 6.1-11z11 	41q1 t? 
1. 	TIITIT 	 2. 	ItINT 
3. 	1-11-Ri 	 4. 	961-14) 

178. When and where was first cement plant set up? 

1. Chennai, 1905 	2. Chennai, 1904 

3. Kolkata, 1905 	4. Kolkata, 1904 

178. 	7-6-1 T Al-Ild.  3-a)-11-  ct)el 	31i.  crPsf "Te-Tifild.  WEIT 
41q1 elT? 
1. 	- --1 	1905 	2. 	-,-.-i 	1904 

 
, 	 i, 

3. 	-ch)elcOldl, 	1905 	4. 	ch)eichIcII, 	1904 

179. Who wrote the book "Small is Beautiful"? 

1. Gandhi Ji 	2. Brundtland 

3. Schumacher 	4. Annie Besant 

""09lc4 179. 	*v1 VII:p-  -Illicl) 1d14 it-74 5 NI 
f --dr Til 01 I 

l  1. 	Tat 	 2.-Gstch 
 

3. 	VI*17 	 4. 	4  .4T4Z 

180. In which city of Haryana is the automobile industry 
situated? 
1. Faridabad 	2. Gurgaon 

3. Panipat 	4. Sonipat 

180. 	6 	2-11u11 * .r -3-i 7re 49-1--dR.  411 . 	3dITT R-21d 
t? 
1. 	4oN1611q 	 2. 	-41-411c1 
3. 	41-nlic1 	 4. 	a•Nc-I 
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181. According to the main role industries can be classified 
into - 
1. Agro-based and mineral based 
2. Key and consumer industries 
3. Public, Private, and Joint sector  
4. Heavy and light industires  

181. At- f 1-1f#-W1 	341 	14-TT 	q€I-)k t :- 
1. -T-14 3Trurft-d A-  vgf4- 	31-rurftd- 
2. 3N -ucpil--4ffr u-srl-n- 
3. ‘4-1 1 4 ,3-1 	ct), i 	-WI-  q3-d--IT 
4. "4-1Tft q 6 e-c. 	7:1'[TT 

182. Which of the following is not a property of mica? 

1. Conducting properties 

2. Excellent di-electric strength 

3. Low power loss factor 

4. Resistance to high voltage 

1._A-c-110-10-, 
 

182. 1 14---11c1 	14R-)-  0-1--,W 	3-P-A- 	(mica) 	4)1 	IluT 

---64.  t? 

2. clip-E.' 1=1-R47-  Tr4t1 

3. 67 \511 W i chi f41 1 171Th.  

l's 	"W 4. 0-cl- c.14e-aul 	Thl 	• 

183. Who was the chairman of the drafting committee of 
Indian constitution assembly. 
I. Dr. Rajendra Prasad. 
2. Dr. B.R. Verma. 
3. Dr. B.R. Menon. 
4. Dr. B.R. Ambedkar. 

183. - f-rOVN TPTT 	41,k'qui •Rif41 	3TUfaT c.t)--f 2l? 
1. \S-I.K3.),- 	4‘41 	I 
2. 51. t. 3TR. -4411 I 
3. t. tr. 3117. 	99.  I 
4. 51. a 311-R-. 34-4---  I 

184. Amnesty International is an international organisation 
which works for :- 

1. World Peace. 
2. Human Rights. 
3. World Justice. 
4. Restoration of Democracy. 

184. -cr4=1-4- 1 	1 ,1c,1 	L c-l-) 	3.1ff- krz4 	s41 416-1 *, 	\.3-1 
-wr4 cmcil t - 
1. -r4--  ¶tf 	f• I 
2. 4-11 -I cI 3TRI--Th-R -. -f= 	I 
3. -ftt-4- -‘--z1RE 	-1' 	I 
4. (1)4)d-A "0-  N-ti- t 	.r&- 	I 

185. The movement that seeks equality in the personal and 
family life of women is known as- 
1. Narivadi Andolan. 
2. Nari Sashaktikaran Andolan. 
3. Mahila Shakti Andolan. 
4. Mahila Adhikar Andolan. 

185. lit-F1-311E * 	c2-I I1 4 Ic1 	AR- 	t-11 	c1IRct) 	II-49 	A 
wwtt c61 ,-tin .61.) clic) 3 	cr-, 	4,61 \Aim 
t- - 
1. •-ilclIqc)  

2. .1t 	s4111-4c1cu1 

3. Tit-FT 71f0T1 3TtT)-F-9.  I 
4. Tit-FT 3Tf 	31-kt-6-9-  I 

186. A person who is not a member of Parliament is 
appointed on minister, he/she has to get elected to one 
of the house of Parliament within :- 
1. A month. 
2. Three months. 
3. Six months. 
4. Selected time is fixed by the President. 

186. 411 .04q:ff vii ‘1‘{-1q chl 'd 	-1 	-et-  t A-ft---4=Tt 

61-1P-.11 	TRII t, 	\1s4) 	f -d-4 fl 4-10 A ,-is 	q).-1):  

'1N.1I 	14 	-f -Rt 	€1-) 	.1q -1 	4)1 	'd 	-4 	61-I -I I 

6)01 t - 

1. yci,  AelAr 141 
2. -ft9-  l'el-4 14 I 

3. .0: 1TetA 1).  

4. -R-PKrtlit T7T ci Li "i7 41 S ,d 4-R1 # I 

187. Who become the members of Gram Sabha? 
1. Only elderly people. 
2. Only elected members of Gram Panchayat. 
3. All the voters of village. 
4. only the youth of village. 

187. 4-11 I-1 TT1-TT 	‘4-1 -0 0-1 6)() t- 
1. ct\KI ri 	, 11 ci 	1-4- 	a 41 I 

2. 11T4i Li-GIRR-1 	.) 	ti-q 1 
3. 4  rl CI 	Tit 	Ic-Nl c-11 I 

4. c.tc..1r1 	IrIc1 	71 	1•4R-1 I 

188. President declare emergency when :- 
1. Prime minister advises him to do. 
2. Parliament advises him to declare. 
3. The council of minister, in writing advises him to 

declare. 
4. Home minister asks him to declare. 

188. -OsIn 	• 	-Thl-  Ei)-qurr ct)cit t ---4 - 
1. -cIVRT:111 	'dI 	ch.) 	4 	,41,-, 	clI ti 
2. fl. \'Ig 	TIMt ‘41c.,11 	c1 I 	t1 

3. 1:i--41-  tiRtK .-U--4-  WZ(--1 	flcr116 	c-II t I 
4. 71---6-9-t .---fl--- t 	‘1(-116 	c-II 	t I 
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189. In case of conflict between the centre Government and 
the state Government over subject in the Concurrent 
list: 
1. Supreme Court decides which of the two should be 

considered. 
2. The state government should be obeyed. 
3. The central government should be obeyed. 
4. Both governments should be obeyed. 

189. 	TPTedi Tit 	r+--#1-  1 	iq 1TR' 	r-' 	ti.<chk 3117 
-e •fl‘YO tNc-t)K 4 Trulkq 	- 

1. \3-cc101-1 -zimieto f4u1-zr e)cit t ft q1-11.  4 
.4 ft-ii 4 	cilcI 	4-II-1) 	krIlq I 

2. "l'-f tNcON 	c61 	6iiti 	i-ihil \AN! 
3. c,.- 	t-NcON 	611d 	4-11-1) 	,ilq 1 

l'If 4. q)-II *NcPIN 	qIcl +ilk ksIN I 

190. What is Mid-Term Election? 
1. Election for the seat to be vocated due to some 

reason. 
2. Election in the event of death of one member. 
3. Election to be held in whole country or state before 

the scheduled time. 
4. Completion of 5 years election. 

190. 	Titzn-er 5-nci ft-4 ct)6 	t? 
1. WI-  ct-)1Xul tr 73T---A-  61.) ac 	41 

Tilci I 
2. f+-41. 	c,t) t1qt4 c61 IN 61.) 117 -T11c1 I 
3. 1. 	ticf .0410 t ITO *11 	1 4 Zff 	1 ,)-ti 4 

).-) 	cilc) 	-Vic! I 
4. 5 citi 1# 6)-) IR.  TIN I 

191. In India seats are reserved for women in which of the 
following bodies :- 
1. In Lok Sabha. 
2. In State Legislatures. 
3. In Rajya Sabha. 
4. In Panchayati Raj. 

191. 	1-1T 	4 	c T3Ttchi f i 	3TRailiT 	ardNIT t:- 
1. 'a'1WRTITT 41 
2. thYti raTT9-illiT34 4 I 
3. -RT. :1.  TPIT 14 I 
4. Li zilqa .<M .41 

192. Which famouse Revolution took place in the world 
history in 1789 - 
1. Russian Revolution. 
2. American Revolution. 
3. German Revolution. 
4. French Revolution. 

192. foq edtRi 4 1789 4 c.r).-i 41- .51%4 	-lit 

§ 	I 
1..Th-ti 	I 
2. 311W-4' 	-ifci I 
3. ‘.141 Mit I 
4. 4)144 Mit.  I 

193. Main Recommendation of Mandal Commission was : 
1. Reservation for socially and educationally 

backword classes. 
2. Reservation for schedule caste. 
3. Reservation for schedule Tribes. 
4. Reservation for Minorities 

193. 	Fish 311 	IT '"f 11-04 RP -NW Or :- 
1. tii 4-Ilici) 3N 31T14- 	'OL-1 t ftrut cpil 

3rForr I 
2. 3-17irA" 	Wit 	f .7 3TRaTur I 
3. 317ftd.  'ii-luin 	ic.q.  31IRTI1T I 
4. 3,T-17-4-Co:FO 	-1: ' 3TRUDT I 

194. Capital requirement ofi\IABARD" (National Bank of 
Agriculture and Rural Development) are met by which 
of the following institution - 
1. Reserve Bank of India 
2. International Development Association (IDA) 
3. World Bank 
4. All of above 

194. 	NABARD (if 	3117 3117 -Mtur itTh-TE 4cP) 
Th°t re 4 zir-4v4T-d-r 1 ,---A Nct 4 tr -1 --ii 
Ti-Rwr gm v. c4) .-{-01-  *? 
1. ITN-thzr -ft----4-  44) 
2. 31tftetzT raWrii titi (IDA) 
3. ftV-4 4T.  
4. 3(-1)c.tvl Tit.  

195. 	Golden Revolution in India is related 

1. Jwellery Export 

2. Gold Gold mines 

3. Honey and Horticulture 

4. Electronic Goods 

	

1. 	
NTI-Trur 

195. 	*4-Tffd" 4 41 es-r Pci)(vi-i (fA--ii miN *lad 
t - 

2. 	.a .) (P t) (61 Ry4-r4 
3. 71-6q1 6114101.4) 
4. Wrzr \3qcmui 
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196. Which of the following is not a renewable resource? 

1. Forest 	2. Animals 

3. Water 	4. Petroleum 

196. f41 ifOftl-U 4 A ml-ff .RiT -ic1l4cirCul tRITZT9 -161 

V 
1. 	49 	 2. 	tri 
3. 	vi ci 	 4. 1) 01. 	LP-I 

197. 	Which of the following is not related to agriculture 
marketing? 
1. Storage 
2. Use of chemical fertilizers 
3. Processing 
4. Preservation 

197. 1- ,--tizviti--ff 	14 	ik 	f-4-,,,ct), 	,(-1 qj Tlit 	ffITErM .i).  

-161 t? 
1. 7ToZTTur 
2. ,,i-t 1 ti 	cb 	\3 	, c1-)1.  WI 31171Y7T 
3. ‘,)41c1,Zul 
4. 1-1Raur (34wur) cr-,•-ir 

198. When an able person is willingly unempoyed while 
here is opportunity to work is known as 
I. Disguised unemployment 
2. Voluntary unemployment 
3. Seasonal unemployment 
4. Educated unemployment 

198. TA- 	(..t) Li 	•ti uif'4ff c014 WI.  314-ffR. 	)c.) V Ill 
.4-- 15T t& 	u1 41k t .0.  TO ull-11 vINJ111 
1. g-435- 	.1‘ii,01 
2. VO.-T 	vi+A 
3. INT41 t),4)v-ila 
4. itf-\W' 	1\Y1 40) 

199. The production unit producting shoe is comes under 
1. Primary sector 
2. Secondary sector 
3. Tertiary sector 
4. None of the above 

199. uk-II TT ‘Icili<-1 ct 	4T-A ‘30-11<-1 	ft-ii 
69" 	31-J1M aTT-dt t I 
1. Arzri  
2. 1-1(1-) 
3. VITIc, Oct i) a-)-- 
4. .14,<1ctvf 4 A (.0)4 -161 

200. Which of the following prepares 1-luman Development 
Report? 
1. Planning Commission of India 
2. International Monetary Fund 
3. World Health Organisation 
4. United Nation Development Programe. 

200. fkifioftr-d.  A -4 m-1-9- 4-11-10 F4TTRi R11)-8 AZFR 
cMcll t-.? 
1. ITRU -V zh7ffi 3T1471- 
2. 3tc1-414tzT 	1 (I) ti 
3. f4-4-4 tilozi *1416-1 
4. #2:1-4Ti alt f4TT-ii chi 	51-)q 
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